01.

02.

03.

www.Padasalai.Net

www.TrbTnpsc.com

i
é Alpha Waves Coaching Centre

ALPHA WAVES

www.alphawavescoaching.com

fOO

NEET, JEE, CA, TUITION
ERODE - 12, CONTACT: 9500939789
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Physics
Assertion: Two metallic spheres are charged to

the same potential. One of them is hollow and

another is solid, and both have the same radii.

Solid sphere will have lower charge than the

hollow one.

Reason: Capacitance of metallic spheres depend

on the radii of spheres.

1) Assertion is incorrect, reason is correct.

2) Assertion is correct, reason is correct; reason
IS a correct explanation for assertion.

3) Assertion is correct, reason is incorrect.

4) Assertion is correct, reason is correct; reason
is not a correct explanation for assertion.

As shown in the figure, a long straight conductor
with semicircular arc of radius 7/10 m is carrying
current 1 = 3A. The magnitude of the magnetic
field. at the center O of the arc is:(The
permeability of the vacuum = 4x x 10~ NA?)

1=3A
1) 6uT
2) 1uT
3) 4uT
4) 3uT

A coil is placed in magnetic field such that plane

of coil is perpendicular to the direction of

magnetic field. The magnetic flux through a coil

can be changed:

A) By changing the magnitude of the magnetic
field within the coil.

B) By changing the area of coil within the
magnetic field.

C) By changing the angle between the direction
of magnetic field and the plane of the coil.

D) By reversing the electric field direction
abruptly without changing its magnitude.

Choose the most appropriate answer from the

options given below:

1) Aand B only

2) A, Band Conly

3) A, B and D only

4) A and C only

1

01.

02.

03.

180x4=720 MARKS

&Bml:. Dy o Georad Casmenmiset Gy
USIONWRSHHHBGSG et L b  Gauiwiiu®
Hleipert. SuBsled @IM Ceumml, LBOMBTEIN)
ST, [ (G]) [l DI RIHEN6ITE
Cameni(heitene. Hi& Camend GeuBml eirenm el
GODBHS LTI L HendHd CBTewIg(heELD.
sryewid: o Geurad Camenmisefler WSICHHEGSH
FHmer Camenmisberlein SLImIBEM6NLI QUITBIHSHS.

1) FaBmI HeUBTEISHI, HTY6ID ST,

2) Fm@ml FHWMEIZ, SHTIEID FHUITEIH BITJewTD
FBBISSTE FlLITe allendaLb.

3) FnBml FHWITEISHI, STTERILD HEUBTEISHI.

4) gaBum FHWLTIHI, SHTTenID FHUITEIZ! HTY6uTD
FBpIbETe Fflwiment allenssd HI606V.

ULSSHe0 STLLUUL BeTerly, /10 m  souid
CBTERIL. DIeNTEUL L 6Uem6NT6Y GIBTEIIL. (1 HEwIL
Crgmer &sLHH | = 3A WSGamLID &b
CFeLFBEHI. BMHILILEVHHT Dl6N6Y.  6Uem6NTal6d
mwGHHe O ereug: (QeumiGdHen 26 {B(Heu6d
=4nx 107" NA?)

s e

1=3A 1=3A
1) 6uT 2) 1uT
3) 4uT 4) 3uT

QH FHET SMHILILVSHIH L MeUSBLILIBGSBS,
BBV G(He6 HETMLD HMHBHLILIEVHSH 60T HenFH G
CFRIGHITE BHBGSGWD. @h  FHeT UPWITS
SMHSLI UTLSHNS LOTHBHBEVTLD:

A)  HHEHEGET  BTHSLILOSHET  SieTenal
LDTB Q316U SHEIT CLPGULD.

B) amhsliyesdBaEen  gmeeat  LgliueTene
LDTB Q316U SHEIT CLPGULD.

C) ahalwsHar Hogbgld  Fimerien
HNHHBGWL — AewLufevnenr  ComemiHend
LDTBBIGUSHET CLPEVLD.

D) 10&ie0 Hewgevul DiHetT  eTemioient

LoTBMTLOeL LNeTCeITa@ SHend (@) LB M3IeUH6aT
cLpeoLD.

&6 OBTHHBLILL (BHeienenaudbeiel(hbd LOHa|LD

QuUTHSFLOTET LiFlemevd CaHTeauis:

1) A and B only

2) A, B and C only

3) A, Band D only

4) A and C only
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For a body projected at an angle with the

horizontal from the ground, choose the correct

statement.

1) Gravitational potential energy is maximum at
the highest point.

2) The horizontal component of velocity is zero
at highest point.

3) The vertical component of momentum is
maximum at the highest point.

4) The kinetic energy (K.E.) is zero at the highest
point of projectile motion.

Two objects A and B are placed at 15 cm and 25
cm from the pole in front of a concave mirror
having radius of curvature 40 cm. The distance
between images formed by the mirror is:

1) 40 cm

2) 60 cm

3) 160 cm

4) 100 cm

The Young's modulus of a steel wire of length 6
m and cross—sectional area 3 mm?, is 2 x 11
N/m?. The wire is suspended from its support on
a given planet. A block of mass 4 kg is attached
to the free end of the wire. The acceleration due
to gravity on the planet is 1/4 of its value on the
earth. The elongation of wire is (Take g on the
earth = 10 m/s?):

1)1cm

2) 1 mm

3) 0.1 mm

4)0.1cm

Equivalent resistance between the adjacent
corners of a regular n—sided polygon of uniform
wire of resistance R would be:

1 (n-1DR

)

(n-1)R
2) (2n-1)
n?R

) (n-1)

(n—-1)R
n

4)
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sogullelmbad — HeLwl L  Csmenddeo
WLl L e QUT(HEnsG, Fflwmer gnBenBd
CxieOFuis.

1) miy ellens eyBmed 10&6 2 WihHs Leieriuled
SIHBULFIOTH B(HBELD.

2) GaumssHHar HmLILL Fam e o Wihs
YeTefufled Lsesluiom@Lb.

3) o ppsHPa CFmGHSs Hpl 06 2 wibhs
Yeitefulled oIFSLILFLOTE B(HEHESLD.

4)  afQurmeT BuibssHHer  10E o WihH
Ljeirerilufed Buisas SBBEL (K.E)
U293 WILDT(EHLD.

40 cm  ouewena] SIID QBTEWIL Q(H GLHeuTent
HETENITIQUIET  (LpedT, HIHeubHelmbam 15 cm
wBmIb 25 CM  GxTemsvailed A wBmib B esu
Byewi(®H QuIT(meiTas6IT MeUSBLILIL (H6ITEIT6T.
SHETEMITIQUITEY 2 (HeUThSUILL L  LIDURISEhHE
BemL_UT60menT HTJLD:

1) 40 cm

2) 60 cm

3) 160 cm

4) 100 cm

6 18 Ben(pd 3 MM? GBIGE&66L(G LFiIL6Ta|D
QasTemiL 61.".@ sLbLiulest wkis e wmGeverd 2 X 1111
N/m? sygib. CarEssiur L HrssHs Siser
ST (HHH SO OHTRISILLILIL (H6Terng.
4kg Hlews Osmeni e 0FTGHSH SLNulesr eveus
(pmetulled  AememibSLILL BelTengl.  SHTHsHH 60
FILIL ellengwimed gBUBLD (PHEHSD LLOUNed $IHeT
wdnled 1/4 eyaib. sbflufer Bid (uuied g &
TBSHSIH Qsmenepniser = 10 m/s?):

Weaimem R Osmemr Fmer sibLlullest euLpdaLoment
N-udP L160@aTem1 & 3 66T LYGEINRIR
CLPEMEVDETHEF) BemL_ Bl 66T FLOLDT 60T Ll6oTSHemL !
l) (n—-1)R

n2
2) (n—-1)R
3)

(2n-1)
4)

n%R
(n-1)
(n—-1)R
n
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Choose the correct statement about Zener diode:

1) It works as a voltage regulator in reverse bias
and behaves like simple p—n junction diode
in forward bias.

2) It works as a voltage regulator in both forward
and reverse bias.

3) It works a voltage regulator only in forward
bias.

4) It works as a voltage regulator in forward bias
and behaves like simple p—n junction diode
in reverse bias.

The escape velocities of two planets A and B are
in the ratio 1: 2. If the ratio of their radii
respectively is 1: 3, then the ratio of acceleration
due to gravity of planet A to the acceleration of
gravity of planet B will be:

1) 4/3

2) 32

3) 213

4) 3/4

An electron of a hydrogen like atom, having Z =
4, jumps from 4th energy state to 2nd energy
state, The energy released in this process, will be:
(Given Rch = 13.6 eV) Where R = Rydberg
constant, ¢ = Speed of light in vacuum, h =
Planck's constant

1) 13.6 eV

2)10.5eV

3)3.4eV

4) 40.8 eV

The ratio of average electric energy density and
total average energy density of electromagnetic
wave is:

1)2

2)1

3)3

4) 1/2

1

08.
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Qe e Cuin® uBmBlw Fflwimet gnBenmd CaHiyey
QFulweLb:

1) 83 soesp smUd @ UEWHs
FrrdbAwTs (OEDNVEIGEY LS LOBILD
weBemadl  gmyied eteflw  P-N - FHEHLILY
L Cuimr® Cumev GFWeOLIHS MBS

B8 (WaHBamsed MDD  HMEVBD  FTL
@yewigeuild  eh eSS FITHSWITS
CFweLLIBHBS.

Bz (waBamasd  Fmyiled W BHOW @
SIS S FITHBWITS GFWLIeOLIBGBMBS).

Bz WICames FIJLled h LTSS
Frrsawns OFweoLGH MBS OBBID HMELSLD
gmyiled eteflw pP-n FhHFHy ewLCun@G Gumev
CFweLLBHBS.

2)

3)

4)

09. A Bt B ey@wi @yeni(h Csmeiseie sUILNS@EL0

10.

11.

Cousmimel 1. 2 e aldpsHde0 o slerme.
SeuBle oymiseier eldsb (weopGu 1: 3
oeoflen, A Gameflenr mly elengwmed gBUBLD
Whéa5FBGHWL B Csmefler myly alenauwimed
gBUGBLD (PBEHBHH MBS 266 allSHLd:

1) 4/3

2) 32

3) 2/3

4) 3/4

Z =4 @& GsmeniL ewaml Jeer Cumeis Siamieales
etV _JelT, 4augl Submed Benevuled(hba 2615
BB HweSGH  FTBBIH,  BbHF
QFwebum iged GeueflulCiu@Gd eumpev: (Rch =
13.6 eV eieniés QamBHsiul (Bereng) Bmi@ R =
I OuFs wrfled, ¢ = GeuBpiLgHglev eefulles
Geusld, h = 1Nenmriic 1OTSI6N

1) 13.6 eV

2) 10.5eV

3)3.4eV

4) 40.8 eV

gynsfl e SYBBed SILJHHHGWD LOSISTHS
Simeoullarr Gomshs sTTFf SLBBEL DILJHIH HESHLD
@evLufevner all&lHLd:

1)2

2)1

3)3

4) 1/2
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12. For three low density gases A, B, C pressure
versus temperature graphs are plotted while
keeping them at constant volume, as shown in
the figure

P(atm) _.Gas A

GasB

Gas C
g 0°c » Temperature (°C
The temperature corresponding to the point 'K'
is:
1) -273°C
2) -100°C
3) -373°C
4) —40°C

13. The threshold frequency of metal is fo. When the
light of frequency 2fo is incident on the metal
plate, the maximum velocity of photoelectron is
vi. When the frequency of incident radiation is
increased to 5fo. the maximum velocity of

photoelectrons emitted is v2. The ratio of vy to v2

is:
U1 _ l
1) Uy - 2
v, l
2) vy - 8
3a=>1
vy 16
U1 _ l
4) vy - 4

14. For a train engine moving with speed of 20ms™.
the driver must apply brakes at a distance of
500m before the station for the train to come to
rest at the station. If the brakes were applied at
half of this distance, the train engine would cross
the station with speed v/x ms~1. The value of x
IS ___ (Assuming same retardation is produced
by brakes)

1) 200

2) 100

3) 400

4) 300

15. A force F = (5 + 3y?) acts on a particle in the y—
direction, where F is newton and y is in meter.
The work done by the force during a
displacement fromy =2mtoy=5mis__ j.

1) 64

2) 68

3) 132

4) 100

1
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12. uLgFed am i Berenuy, A, B, C oiwpsHsid
LBBILD CeUlILBINEY AUENTLIL MIGHEI [Hl6eDEOUITET &H63T

SleNTail60 MAUHH(HBGLD Gural
QUEDTWILILI(H &5 G160t
P(atm)_aGas A

Gas B

GasC
b 0°C » Temperature (°C
'K' yeirefla @ @&H3 euliuplensv:
1) -273°C
2) -100°C
3) -373°C
4) -40°C

13. o GovnasA e LWETOHT 55 DHiTeeiemt fo. 2fo

SIFHTO6uewT OBTWIL el o Beurdd HHL 1960
uBLBUTEH,  EMISIRIISHHHHE — DIFH UL F
Goussld V1 Si&ID. sFHTaiFdlar oigj0euent Sfo ois
oFafesaiuboCurgl. o 10piuGL  geflidier
S(WSHFHmBaTeT DHBLLF Geusld V2 LS. Vi
LOBEID V2 Beir el SLb:

V1 _ l
1) 2
V1 _ l
2) > 8
n_ 1
3) v, 16
g 3
4) Uy 7 4
14. 20 ms Gauss )60 B @b Tuled 6lehS IS,
guied  HleweowdHHev  @UICUBHDHH, L BHT
PeeowsbHmEE ~ 500m Garenevaisd  Bousm
shuldsmen’l uvwSLGSHH Geuewibd. @b
BN &) 60T urgluiled BGoum EICINNE ]

LWSTUGSSLILILLT6D, JUleD 6Tehd & MHlenevisHemd
Vx ms™! GaussHev HLEGD. X D6 A
(98 UeaemenL e  Gous SO B6MT6e0
IBLGBBSH TeTHI M6l SHIH60BTETBTID)

1) 200

2) 100

3) 400

4) 300

F = (5 + 3y?) aaip alens Y-FHeasuled @b g6
g QFweoLIGABSHI, @mIG F eteug Bluyl L e
oBEID Y UL fled o _eitengl. Y = 2mM @e(hbaI Y =
5Sm &3 GLuouwiFfuler Gurgl ellenauwimed
QFUILINLGD Gauemev | LG ID.

1) 64

2) 68

3) 132

4) 100

15.
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Moment of inertia of a dise of mass M and radius
‘R’ about any of its diameter is MR? /4. The
moment of inertia of this disc about an axis
normal to the disc and passing through a point on
its edge will be, x/2 MR?. The value of xis .
n1

2)2

3)5

4)3

Nucleus a having Z = 17 and equal number of
protons and neutrons has 1.2 MeV binding
energy per nucleon. Another nucleus B of Z =12
has total 26 nucleons and 1.8 MeV binding
energy per nucleons. The difference of binding
energy of Band Awillbe _ MeV

1)6

2) 2

3)5

4)3

A block is fastened to a horizontal spring. The
block is pulled to a distance x = 10 cm from its
equilibrium position (at x = 0) on a frictionless
surface from rest. The energy of the block at x =
5 cm is 0.25 J. The spring constant of the spring
is__ Nmt

1) 67

2) 40

3) 57

4) 70

Match the physical quantities with dimensions:

a) Torque ppML2T!

b) Angular momentum|q) M° L2 T2

c) Latent heat NMeLeT!

d) Surface tension s) MO L TO

e) Light year HMLAT?
u)M LO T2

1) a-t, b-p, c-q, d-u, e-s
2) a-q, b-r, c-p, d-t, e-s
3) a-q, b-p, c-t, d-r, e-s
4) a-t, b-s, c-q, d-p, e-r
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Benp M oppid ‘R’ eupib Osmemi @@ eul L
SL 96 Ben6VL0S Sl(BLILSHSIBEI iHeit aill L &FHle0
gCsamild getenmil Libp MR? /4 sysib. @hs eul' L
ST Benevind SHEUUSHBET oLl S BHE
BuwieoLTen DIFMFF FBB DIGH6T allerfbLled @ eiterm
@@ UeTeflenwd &LbFH OFONID Heneolnd
AmiysHnar X2 MR? o156 BheEn. X Qe
WHIY ___ SYSLD.

1)1

2)2

3)5

4)3

Z = 17 uwBmb & eTenrenidenduieome
LG L TetTep6lT LoBmID Bl JTeilsemend OBl
SIIBHH a @ HubelCuraisg 1.2 MeV
LenewiLiL] SyBpenevd OdTemiBerengl. Z = 12 Ser
LoBEBT(H &(h B OLOT&HHLD 26
pugdbefCureisemenud @ BuydbeflCumasg
1.8 MeV Udenewiliy siBmeneou|d CsTemiBeTeng.
B wompio A @it Lenewtliy ymmedler Ceumiim(p

MeV g5 BmHeELb.

1)6
2) 2
3)5
4)3

Qb BLML @I LI L  Fi(hHeTals0ede0
OewembBULL (BHeTeNgl. SN DIGH6T FLOHEn60
Wedpbal X = 10 cm  gnysdne (X = 0 @ed)
@ue Heeouledmbas 2 grule)  E6OeUTH
Gusurliied SupssluGHBH. X = 5 CME60
o oiten OaT@Huier symmed 0.25 ] ousib.
gimeialevaden e orfled _ Nm™ ey
1) 67
2) 40
3) 57
4) 70

uflloTeTRISEbL 6T SUIBLILED  Sl6T6 BNl
QUT(HSHSHGLD:
a) Hmlieleng p)ML?T?
b) Gamewt 2 _haid q) MO L2 T2

C) 2_sitemenms Geuriib |[r) MO L° T?

d) Gusuyiy Bupeleng|s) M° L T°

e) gefl oL )M L2 T2

uyMLOT?2

1) a-t, b-p, c-q, d-u, e-s
2) a-q, b-r, c-p, d-t, e-s
3) a-q, b-p, c-t, d-r, e-s
4) a-t, b-s, c-q, d-p, e-r
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If the magnetic dipole moment of an atom of
diamagnetic material, paramagnetic material and
ferromagnetic material are denoted by pq, pp and
us respectively, then
1) yp=0and ps#0
2)ud#0and pp =0
ua#0and pusr£0
A pe=0and pup #0

When a dielectric slab is introduced between the

plates of an isolated charged capacitor, it

1) increases the capcitance of the capacitor

2) decreases the electric field between the plates

3) decreases the amount of energy stored in the
capacitor

4) all of the above

10 kg of ice at 0°C is mixed with 10 kg of steam
at 100°C:

1) Final temperature is around 100°C

2) Final temperature is 5°C

3) Final temperature is 10°C

4) Final temperature is 15°C

If a particle moves in a circle describing equal
angles in equal times, its angular velocity vector:
1) Remain constant

2) Change in magnitude

3) Change in direction

4) Changes both in magnitude and direction

In comparison to a half wave rectifier, the full
wave rectifier have:

1) Same number of diode

2) More number of diode

3) Less number of diode

4) Anything can happen

Statement—I: Acceleration due to gravity is
different at different places on the surface of
earth.

Statement—Il: Acceleration due to gravity
increases as we go down below the earth's
surface.

1) Both Statement | and Statement Il are true

2) Both Statement | and Statement Il are false

3) Statement | is true but Statement I1 is false

4) Statement 1 is false but Statement Il is true

1

20.
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LWTSMhSLI QUIT(hHeIT, UTTT SThS L GLUIm(hHelT LofB®ID
C.OuGTT &MhHHL QUITHeT SL&luleuBNelr Digmiedest
&MHSH SHWPmer HHUILSSIBT WenBGL i, Hp
LOBBID f DO GMISSLILIL L T6V,

Dpp=0and ps#0

2)ud#0and up =0

3) ua#0and us#0

A)ug=0and pp#0

SNeULGSHSUIUL L W06Tenml L 1D QgFuiwiu’ L
WSCHBH Ul L BHEHHEGH ewLUuled  6h
WOSIBLHHT DIBHDHGH DS(WPSILGSSLILBGLIOCUTSI,
913l
1) 1S18mH & B uler 10TCHEHHMSB DFH B HH B
2) o BaEndE& Sl uleorer OGILVSHMBHEH
SDBSBBBI

WeaBshadlulsd  GFbldslLBL — SLBmBeder
SIS GHMBHSBSH
4) BGBev 2_6iTe SIMTHSILD

3)

22. 0°C ®@ev 10 kg uerfl 100°C @ge0 10 kg ymeiluest

23.

24,

25.

H6VSHBLILBH MBS

1) ®mig GeutiBlenev aory 100°C &b
2) ®mid Geuliupeney 5°C gy@ib

3) ®mid Geuliupensy 10°C

4) @mig Qeuliuplenso 15°C

Q(h SIH6N FLowmen CrImiseNed F10 Camewimisemern
aluflEGl @ QL LSHHD [BIBIHITE0, DIH6T
Camemt HemgGous GloudLT:

1) rmTioed B(HEHEID

2) ojenailed OTHBBLD

3) Hewgulev LOTBBLD

4) 966 OBEBID Hend BTEwTgeVID LDTHBBHIG6IT

DM DMV HHHHuUL el eULlBemaulled, (L
SIM6L FH(HGHIHWITEISHI:

1) @Gy eremtenildenauievme enL Guim®

2) &1F & crewTenidbamauleomer ent Guim®

3) @evmeurert enlGuin(

4) 611D [bL_E&HEUTLD

gpp-l:  yuler  Gupurinied GeusiBsum
B misefled FIUY allengdwmed gmuUBL (PpHSHSLD
GeoumIul_ L.

wmu—II: yoluler  CupuriliBgs  SHCwp
CFe0aIbBUITE! FILIL allewaFuwImed gBUBLD (LPHEHSLD
SIF B BB

1) spu | oBpId apo | @yewiG gl
2) sl | opoid sapul | QyesiG Heupl
3) aamml | M oyemmed gammy | Heum

4) amml | Heum speonmed gnpml 1 o
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26. Match the following.

a) AC generator

i) Presence of both L and
C

27.

28.

29.

b) Transformer ii) Electromagnetic

Induction

c) Resonance
phenomenon to

iii) Quality factor

occure

d) Sharpness of iv) Mutual Inductance
resonance

1) a-iv, b-ii, c-i, d-iii

2) a-ii, b-i, c-iii, d-iv

3) a-ii, b-iv, c-i, d-iii

4) a-iv, b-iii, c-i, d-ii

Match the following.

a) Microwaves |i) Radio active decay of the
nucleus

b) Gamma rays |ii) Rapid acceleration and
deceleration of electron in

aerials

c¢) Radio waves |iii) Inner shell electrons

d) X-—rays iv) Klystron valve
1) a-i, b-ii, c-iii, d-iv
2) a-iv, b-i, c-ii, d-iii

3) a-i, b-iii, c-iv, d-ii
4) a-iv, b-iii, c-ii, d-i

If earth has a mass nine times and radius twice to
the of a planet P. Then V¢/3 v/x ms™ will be the
minimum velocity required by a rocket to pull
out of gravitational force of P, where Ve, is
escape velocity on earth. The value of x is

1)2

2)3

3) 18

4)1

A steel wire with mass per unit length 7.0 x 103
kg mt is under tension of 70 N. The speed of
transverse waves in the wire will be:

1) 200 T m/s

2) 100 m/s

3) 10 m/s

4) 50 m/s

30. A child stands on the edge of the cliff 10 m above

the ground and throws a stone horizontally with
an initial speed of 5 ms'. Neglecting the air
resistance, the speed with which the stone hits
the ground will be __ ms! (given, g = 10 ms?).
1) 20
2) 15
3) 30
4) 25

L
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26. UasteumalssieuBenmll QUIT(HeHHaLD.
a) AC i eseflusns) i) L upgio C &yewnges
Sy
b) Westommps 1) OeTBMHS HITEHIL 60
C) @336 iii) gy smyen
[Bleb1Dey 6T
d) eiFireysefesr IV) uflorBm et
FniJ60LD HIT600TL_6L
1) a-iv, b-ii, c-i, d-iii
2) a-ii, b-i, c-iii, d-iv
3) a-ii, b-iv, c-i, d-iii

217.

28.

29.

30.

4) a-iv, b-iii, c-1, d-ii

LedTeu(mHeueasieuBenmLl GLImHoHHaLD.

a) mlewTenIeneE6T (1)  Slemibamaler  GyigGuim
GFwelleL 2 _aiTen Flenge

1) eumesteuiflseriled
616051601 60T 61 6MIT GUIT6OT

b) &mor &6l

(PBHESBLD LOBMILD
GMBLILY
C) Gig@uum i) 2_6i1 gnl’ (B
S|EMEVDHGIT 616V L _IJITEOTH6IT
d) X—adjsei IV) SlenarTerdl Jmest aTeL6)
1) a-i, b-ii, c-iii, d-iv
2) a-iv, b-i, c-ii, d-iii

3) a-i, b-iii, c-iv, d-ii
4) a-iv, b-iii, c-ii, d-i

P & alL i @b HrssHHer etlg LG BHens
BBID Bewi(B WLBIG JD SbbHSDTev. Lieirer)
Ve/3 Vx ms™ aiaiig) P @air miriy eflenauled s
CouelCwm @ JTECE (BHdHGHSH CHemeuulmert
GBhaULF Geusld, g Ve elaiuig L0lulsd
SLILNSGLD Cousld HLEGLD. X &6 G

1)2

2)3

3) 18

4)1

o well Bersdie 7.0 x 10° kg m™ Bey
QamentL 6r.".& sl 70 N @upaienguied o eiteng.
suled GHBIHEG Dienevdarier Ceousld:

1) 200 T m/s 2) 100 m/s
3) 10 m/s 4) 50 m/s
PG GYbms soyulaiehs 10 M o wrssled

urenpuiesr  eflefibiled ey 5 ms!  syribu
GousdH o0 @ H60M6L HEML O L LOTH IFH MBS
STBHM  THOLMWL  LBSHHmNHBHTE0,  H60
Heruied Gomgib Gaustb  ms! s BmaE b
(Qan@sasu Getengi, g = 10 ms?).

1) 20

2) 15

3) 30

4) 25
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A proton moving with one tenth of velocity of
light has a certain de Broglie wavelength of A. An
alpha particle having certain kinetic energy has
the same de-Brogle wavelength A. The ratio of
kinetic energy of proton and that of alpha particle
is:

1)2:1

2)4:1

3)1:2

4)1:4

A sample of gas at temperature T is adiabatically
expanded to double its volume. The work done
by the gas in the process is (given, y = 3/2):

1) W=TR[VZ - 2]

2)W=T/R[V2-2]

3)W=R/T[2-2]

4) W = RT[2 - V2]

An electric cell of e.m.f. E is connected across a
copper wire of diameter d and length I. The drift
velocity of electrons in the wire is vq. If the
length of the wire is changed to 21, the new drift
velocity of electrons in the copper wire will be
1) vg

2) 2vq4

3) vdal 2

4) vyl 4

Let o be the uniform surface charge density of
two infinite thin plane sheets shown in figure.
Then the electric fields in three different region
Ei, En and Eyy are:

Surface Charge
density ¢
11
I 1
i d i
= 20 . B = 20 A
l) EI = —n,EH = O'EIII =—n
€0 €0
— — oA
2)E;=0,E; = —0,E =0
0
— o — — o
E =—nE;=0Ey=—q
) 1 2¢0 » DI » DI 260
=1 [ = =1 O A
4) EI = —_n,EH = OIEIII =—Nn
€0 €0

1
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afuiler CausdHdle0 LHHED h LMIGL T HH(HLD
@ LUCIMiLmeds@® @b GBIUILL 19-1GyTéed
SIMEVHETD A 2 6iTengl. @h G L Buisbs
SIMBBeN6VDH CBTEWIL Q@ DLEOLT HIH6T 6T 19-
LGyméed olemevpbend A o eitengl. LGyl L meofler
BWsHs SMBEIHGD DLEOLIT HIH6THeNer Buichs

SLBBEVIHESHLD 26116 el SHLb:

nH2:1

2)4:1

3)1:2

4)1:4

Geuliumensy T B0 o _e6iTeN @(h euTuy LTS SigHest
Sleemel @ ipliumds Geuliuls  ufliom@pLiiedeor
Blemevuiled alfleuenLSHmg. OFuweoUTL 196D
QUTUI6UT6E EFuIwWIIL@LD Beuemev

(Cam®asiuGetengl, Y = 3/2):
1) W =TR[V2 - 2]
2)W=T/R[V2-2]
3)W=RI/T[2-V2]

4) W =RT[2 - V2]

e.m.f. E §eir Weiidevld el LD e oBmId e |
CamewiL @ Ogiy sbluilear GBIECs
BemantbBUILIL (BeTT6G. &bLullev 266N
eTeusL gmeiigerledr  @pLiLy HengGausld V.
sulesr pemd 21 eus IBBOLLLTe, &Ly
sDLIufled  etevdLgmeiisefler  UHw  @pLiy
HengGausld

1) vq

2) 2vq4

3) val/ 2

4) vyl 4

UL SFH60 STLLLILIL (HeiTenm @Jemi(B  61606M60ULIMBM
Oevedw  Hed  SHeidefenr dymesn  GopLTLiLy
WM L SILTHFH 0 b DHHSL(BLD. L6t
cpaiml GeusiGoum LGd Ei, En wmmid En &sd
© 66 LOIGHT L6UMRISH6IT:

Surface Charge

density o
I

I m

Y

— 2 ~ — 20-’\
1)E = e_anII =0,Ey = -1

— 0—) o .= 0
2)E;=0,Ey= ;n;Em =0

— [N — o A
3)E = 2 1, Eqy=0Ey = 2o n

— OO—A—> - O-OA
4)E; = _;anII =0,Ey = o h
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A mercury drop of radius 10~ m is broken into
125 equal size droplets. Surface tension of
mercury is 0.45 Nm~2. The gain in surface energy
is:

1) 2.26 x 107°J

2) 28 x107°)

3)17.5x10°)J

4)5x107°]

The mass of proton, neutron and helium nucleus
are respectively 1.0073 u, 1.0087 u and 4.0015u.
The binding energy of helium nucleus is:

1) 14.2 MeV

2) 28.4 MeV

3) 56.8 MeV

4) 7.1 MeV

(P + %) (V-b) = RT represents the equation of

state of some gases. Where P is the pressure, V
is the volume, T is the temperature and a, b, R
are the constants. The physical quantity, which
has dimensional formula as that of b%/a will be:
1) Bulk modulus

2) Modulus of rigidity

3) Compressibility

4) Energy density

The average kinetic energy of a molecule of the
gas is

1) proportional to absolute temperature

2) proportional to volume

3) proportional to pressure

4) dependent on the nature of the gas

A charge particle of 2uC accelerated by a
potential difference of 100 V enters a region of
uniform magnetic field of magnitude 4 mT at
right angle to the direction of field. The charge
particle completes semicircle of radius 3cm
inside magnetic field. The mass of the charge
particle is

1) 144 x 108 kg

2) 144 x 10 kg

3) 12 x 108 kg

4) 12 x 10% kg

A small particle moves to position 5{ — 2] + k
from its initial position 2i +3j — 4k under the
action of force 5 + 2j + 7k. The value of work
done will be

1)60J

2)401)

3)207

4)80J

L
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102 m sy QarewiL @@ LTEHFs sleM 125 &io
SI61T6)] FHlef B6TH ® ML SHILBIHMBSH).
utsTEsAa Cuopuriy Suwelams 0.45 Nm™
Qumd Cumuriiy SBBeL:

1) 2.26 x 107°]

2) 28 x107°]

3)17.5x 10°)J

4)5x10°)

yGymiLmer, Byl pmest  oBmId  enfedlub
SlamIidbamHaler Hens (ep@uwi 1.0073u, 1.0087 u
wipid 4.0015u gy@b. ansedwid DiamidhamHailest
LNemeuotlIL| SBB6L:
1) 14.2 MeV
2) 28.4 MeV
3) 56.8 MeV
4) 7.1 MeV

(P + %) (V-b) = RT ereiiugy dlev eumuydbaseriles
Hleweouiler FaUTL LS GHPoHHBa. P sremug
SIWHHD, V 6Lz HeT Sleey, | eTeLG
QeuriLBenev BBID 8, b, R ereiiug) wmiledsaeir. b%/a
oiadIB Lfloment &SHHTHendHd Gdmemr uiiLiuieo
IO

1) elewmiiy &ewisld

2) L(BLDE (& 6mTBLID

3) SI(PDHBHIIQUI HEBTENLD

4) SuBped SIS

QUTWLeI6I (1 cLPeVSBInM6ll FTTE] BUihs HBB6D
1) apapemiowimet GeuiLpBlenevdd aldSTEFTIIOTEGLD
2) BRI DI6eN6|EG a1dHTFTILONGD

3) SIWSH3HIBE AlEBTFTTONGD

4) aumu a6 HesTenoenl QUITBISHSHSH

100 V @er WaepdHs Ceupim L med
siflstupsSsI L 2uC &1 e et L&
BIH6TT, LeuSH e Hengd@ 0FmBareamiddled 4 mT
Slea eien  FImen  STHBLILEVHHT LG HHESH6N
BIDPSBSHI.  OSTDT L SSIH6T  SMHSLILEOSSIB
G611 3CM HYIID OBTERIL. DI UL L SHe0d [HlenBe)
CFUIHBSHI. LOGTDITL L SHHiseren Hens
1) 144 x 108 kg
2) 144 x 107%%kg
3) 12 x 10 kg
4) 12 x 10 kg

om AVw siser 51 — 2] + k elevsuler
QFwebLITL 19651 B1D DIHeST QIIbLl BHlemev 2T +3] —
4k ®mHs 51 + 2] + Tk Bevevde@ BoHTEBSI.
CauwL@GD Ceuemevuiedt LOEIIL]
1)60J
2) 401
3)201J
4)801J
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A series LCR circuit is connected to an ac source
of 220V, 50Hz. The circuit contain a resistance
R=100Q and an inductor of inductive reactance
XL = 79.6Q. The capacitance of the capacitor
needed to maximize the average rate at which
energy is supplied will be

1) 100 pF

2) 80 uF

3) 60 uF

4) 40 pF

Two small spheres each having the charge +Q
are suspended by insulating threads of length L
from a hook. This arrangement is taken in space
where there is no gravitational effect, then the
angle between the two suspensions and the
tension in each will be;

1) 180°, - &

4meg (2L)2

2)90°, — <

4sL2

3) 180°, L

o0 2L

4) 180°, &

LZ

A galvanometer has a resistance G ohm and
range V volt. The value of resistance used in
series to convert it into voltmeter of range nV volt
is;

HnG

2)(n-1)G

3)9

4)

(n £y

A circular coil having N turns and radius r carries
acurrent I. Itis held in the XZ plane in a magnetic
field Bi. The torque on the coil due to the
magnetic field is;

2
1) Br“l

TN

2) Bar?IN

3) B2l

4) Zero

Which of the following has/have zero average
value in a plane electromagnetic wave?

1) Both magnetic and electric fields

2) Electric field only

3) Magpnetic field only

4) Magnetic energy

1
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am Oxs1Ly LCR amm 220V, 50Hz &er ac
CLPEVSBIL 6T BenentdbBLILIL (heTengl. eramm R=
100Q WeaisemLemwiujd XL = 79.6Q gmewiL60
alemenHHMerT OBTeL @  LOGTHITEUTYEMUILLD
OaTemi(BeiTengdl. BB  UPRISLILGL — FITSF])
D BHHMSH SIH BB Gxhemeuwiment
(Iofeq(€3:5%: % ANl ATl (€F:5F: 330

1) 100 uF

2) 80 uF

3) 60 uF

4) 40 pF

et L1 +Q Oasmewi  Gyewi(h  Fpflw
GamenmiseT @aIOUTEIBILD @ OEToHH U (HHS!
L memb  Gamemr &ML [BIT6DHENTED
SLEBISSILGS B Qb  gBuUTB AL
alemeriey &eLevTdH B HH60 IBHBILBH MBS,
L9 G601y ®yewi(h BmL_[HSHBHIBHEHHGLD
RIARIIE v 2 _giterm B allengsH@Lb
@mLuj@nem @memrLd

1) 180°, &

4—7‘[8 (2L)2

2) 90°, - i

4-71'8 e
Q2
o —
3) 180°, ' amen 202
1 Q
LZ

4) 180°, —

@ sTevauGammSiLy G @b wBpid V Geumedl”
aurbenUs GameniBeengl. NV Geumedl. euyibLNesr
GoumeOL_ LB LI LOMTB® CamLifled
LWSTUGSSLILIGLD W 6iTgHemL U6 gL
HnG
2)(n-1)G

G
3) - )
4 (n-1)

N SmliLmiseT B®ID ' LD OETemTL 6 (h eul L
(6l (b LB L S | Oameni(h GFaodma!.
Bz XZ smdFed @B HNHSLILESD60
MUSBLILGIBSI Bl. SMbHLILIe0SHS60 HTTewILOTS
(60 2_eiten SH(HLULeNenF
Br?l
1)
TN
2) Ba?IN
2
3) Brr<l
N

4) Zero

1) FLDSH6T OSIBMHSH Slemevuiled
Levteu(heuesteumnile 61 Lyeaedlul FImafl ogllienud
Osmemiheitengl?

1) srbHSILeoD WBHBID 6T EURIB6T BT6wTBLD
2) WesiLjeuLD oL BLb

3) sMbHSLIL6VID oL (BLD

4) &b SHBBeD
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Chemistry
All Cu(ll) halides are known except:
1) CuCl>
2) CuBr>
3) Cul
4) CuF;
Correct order of 3rd ionisation enthalpy:

1)Sc<Ti<V<Cr
2) Mn<Fe <Cu<Ni
3)V<Cr<Mn<Fe
4) All of these

Which of the following act as reducing agent in
aqueous solution:

Ti*2, V*2, Cr*2

1) Ti*2 and Cr*2

2) V+2, Cr+2

3) Ti*? and V*2

4) All

Assertion: Fluorine stablises higher oxidation

state of transition metals.

Reason: Oxygen has ability to form double bond

with transition metals.

1) A and R are true and R is the correct
explanation of A.

2) A and R are true and R is not the correct
explanation of A

3) Assertion A is true but Reason R is false.

4) Both Assertion A and Reason R are false

The lanthanoids having only one electron in
penultimate d—subshell in ground state.

1) Gd

2) La

3) Ce

4) Ce, Gd, Lu

Which of the following is called carbolic acid:
1) CoHsOH

2) CeHsCH0H

3) CeHsOH

4) C4HOH

Williamson synthesis is used to prepare:
1) Acetone

2) Diethyl ether

3)P.V.C.

4) Bakelite

1
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Chemistry
Bmas Haily smarss Cu(ll) CGasemesv®asemmid
SIBWILGE STment:
1) CuCl2
2) CuBr;
3) Cul
4) CuF,

3augl owelwns@d  earsmeolulle  gifluwimeo
alflensg.
1)Sc<Ti<V<Cr
2) Mn<Fe <Cu<Ni
3)V<Cr<Mn<Fe
4) All of these

1) BT F6VI60 QBHSID BT GOTLITE
Ledteu(meueasteuBley 61& GFwieoLIBAMBSH:
Ti*?, V*2, Cr?
1) Ti*? and Cr*2

2) V*2, Cr*?

3) Ti*?2 and V*2

4) All

GgBpl.  Heneoomnm o Geursmiseflear  SiFHs
&I Cenis [BlemevemLL .".Ltebifl 6T
BeneolILBSHBIBBS-

SIT6wILD: [BlemeVLOTiMm o BeuramisserhL 65T
@il LUenewilledl o (HheuTdh@G  Hmeir

S HMINMIHEG 2 601({H.

1) A wBuib R eydwenau #M wmpid R eresiug A
Bt Fflwimen elembablb.

2) A opmib R eydlwienen oM wpmid R eresiug A
®er Fflwimet alleNdEID DI6L6V

3) gamm1 A ereitLigy Fifl SyeTed SMyewid R 616
SHADBTETSI.

4) gam A oBmIb &ryewid R @yemi(Bd Seuprerg)

HT Beneouied BmiL d—asiementbant 1960 QBT @
61608 L_gTenent oL (HGLD GIBTERIL. GUTHSHEITUIBESEIT.
1) Gd

2) La

3) Ce

4) Ce, Gd, Lu

Ledteu(meueasteuBmiev 618 &miGumeiis Siflevld ereiy)
SIMPSHBLILBH MBS

1) CoHsOH

2) CeHsCH20H

3) CeHsOH

4) C4HoOH

alevelwibger GHTGLIL
LWISTUGS MBS
1) o GLmest
2) DLMH60 FHT
3)P.V.C.

4) Gubsamevt

aMmBHH HWMFHBL
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Photochemical chlorination of alkane is initiated
by a process of:

1) Pyrolysis

2) Substitution

3) Homolysis

4) Peroxidation

Ethyne molecule contains:
1) 5 ¢ bonds

2) 4 o bonds and 1 © bond
3) 3 6 bonds and 2 & bond
4) 2 o bonds and 3 = bond

The geometrical arrangement of NHz groups
around Co in [Co(NHa3)e]*" is:

1) Tetrahedron

2) Square planar

3) Trigonal bipyramidal

4) Octahedron

The outermost electronic configuration of the
most electronegative element is:

1) ns?np?

2) ns?np*

3) ns’np®

4) ns’np®

The rate of reaction is doubled for 10° rise in
temperature. The increase in the reaction rate as
a result of temperature rise from 10° to 100° is:
1) 112

2) 512

3) 400

4) 614

For a reaction of type A + B — products, it is
observed that doubling concentration of A causes
the reaction rate to be four times as great, but
doubling amount of B does not affect the rate.
The rate equation is:

1) Rate = k [A] [B]

2) Rate = k/4 [A]?

3) Rate = k [A]? [B]°

4) Rate = k [A]? [B]?

Determine the value of E° cell for the following
reaction

Cu*2+ Sn*2— Cu + Sn™ Equilibrium constant is
10°

1) 0.1773

2) 0.01773

3) 0.2153

4) 1.773
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608xaflal  geMGeugluluicd  GGenmfGeragesr
LedTeu(mHLD QFUICO(LPENBEHET60 QISHTL MHISLILIBGSBSH:
1) ewLGymenevdlend
2) wii®
3) BammGioTensudlerd
4) QuyTeFBL a1g6i

THEMHT (LPeLSHInMI60 L1661 (HeUET DI MIG)LD:
1) 50 Lenewiiserr

2) 4 o ewewitiysenn and 1 7 Lemewrii

3) 3o Llewewiiisein and 2 7 LenewILIL

4) 2 o Uewemtiiyseir and 3 7 Llenewrii]

[Co(NH3)e]** @0 Co w5 amnfujsiter NHs
G (RHH6M6I aUYailUIed SienLDLIL|:
1) Bresi(Lpd)
2) pen gD
3) w&Csmewt BHLITLOB
4) erami(Lped)

WD 6TeudL JTel  HauTHeiend  GlameurL
SHanog Fler GeualiLm L6T6Tam 2 6T6emenLos):

1) ns?np?

2) ns’np*

3) ns’np®

4) ns’np®

Qauripleneoutled 10° o wifeys@ alewer aldlsid
Sy iwiurdpgl.  10° @edmpbas  100°  eueny
Geuliupleney  SIFBFILLTGT  alenemeurs  allenet
alSl55H60 GBUGLD SiHlSFL:

1) 112

2) 512

3) 400

4) 614

allemeruie auens A + B — allenenGLImmeir. A &eor
Cepley @ liuTssliL(Geug almea aldlHsHms
BT WLMHIEG DHBTHE BTN hHLULDHS
SHITEUIGVTLD, SLETT60 B B 9|66
@I RILTSGHag adeHHme UTHESETH. aldls
FLoetum(:

1) Rate = k [A] [B]

2) Rate = k/4 [A]?

3) Rate = k [A]? [B]°

4) Rate = k [A]? [B]?

Uetaumd allenarbarer E° sevdhdler wdlliemnLis
SILOTEN HSHELD

Cu*? + Sn*? — Cu + Sn™* swHemev w1fled 10°

1) 0.1773

2) 0.01773

3) 0.2153

4) 1.773
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2.5 F of electricity are passed through a CuSO4
solution. The number of gm equivalent of Cu
deposited on anode is:

1) Zero

2) 1.25

3)25

4)5.0

The enthalpy of neutralization of acetic acid and
sodium hydroxide is -55.4 kJ. What is the
enthalpy of ionization of acetic acid:

1) -1.9kJ

2)+1.9KJ

3) +5.54 kJ

4) -5.54 kJ

Which of the following classes of organic
compounds show metamerism:

1) Ethers

2) 2° Amines

3) Thioethers

4) All of these

Which of the following is not true:

1) Ethyne has linear structure

2) All alkenes show geometrical isomerism

3) All the carbons in propane are sp® hybridised
4) Only terminal alkynes show acidicproperties

In benzene the sp? hybrid orbitals of each carbon
constitutes:

1) Two ¢ and one 7 bonds

2) One ¢ and two 7 bonds

3) Three ¢ bonds

4) Three © bonds

SN reaction is favoured by:

1) Bulky groups on the carbon atom attached to
halogen atom

2) Small groups on the carbon also attached to
halogen atom

3) Non-polar solvents

4) None of these

The peroxide effect in anti-Markownikoff
addition involves:
1) lonic mechanism
2) Free radical mechanism
3) Heterolytic fission of double bond
4) None of these

1
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25 F Wergmyib CuSOs sevyged eupluins
QFIHSILBGSBSI. CHTdeeuTuied Lghsh CU &G
FIDLDT6OT QM 676067600155 6m b -

1) Zero
2) 1.25
3)25
4)5.0

9151195 SILf60ILD LOBBILD Bamguib
MABL_JTHMFML [HBHH eNEOUITEE)61SH60T 616THT6ULT
-55.4 kI s oFgs Db He
ST WTSHSSHIH 6 6T681HTe0LT 6T65T60T:
1)-19kJ
2) +1.9 kJ
3) +5.54 kJ
4) —5.54 kJ

Weteupd  Hiflo  Cayomisellen 6hsd U@L
QL LTeWwflFHmsHs &M BEHBSHI:
1) wapieseit
2) 2° subsimen
3) FHBWIT FHTH6IT
4) Bmer HIMRIHSID

Levteu(heuesteuisled 618 &Fiflulievsv:

1) rpensei GEflwed SieniolienLis QsTem(BeTeng

2)  SmaiHH  DeVEHERBEDHD  algaluied
0CaTOWflF&Hmad HTL (S eimen

3) LOyTIBLETeL 2 6o DIMETHSH! BHTTLIGTHEHLD
SPp3 sevlITeToTeSLILIL (h6T6NT60T

4) (el  Spevendeiser U GHGWD  flen
LIGWTL|&6m6Td SHTL (HlevTment

Quaiafled @eiGeuT sTUaeT SP> Sevriler
SLTLIL L T60&(6THLD L esTeU(HLDTmI
® (HeUTHE P 6TB6T
1) Byewi® O WBBID @(H T LND6WILIL|SH6IT
2) @(h O BBID BFei® T LIenewTLIL|S6r
3) el O LNHERILIL|B6IT
4) elpaSiml TC L1160 6uoTL 1L 61T

SN! allenens@ s1gsw0TE 2_sieng):

1) BGamevaT DIEIAL 63T BeNewTdhSLILIL L SHITJLIGH
IO 66 LITHLOGTTET (& (LDbBH6NT

2) amjuefed 2 eiten APl Gupbser Gameveet
SDIeWI6YL_ 63T B6n6uT&BLILIL (H6ITeT6nT

3) SI(HULOBB HETLILITETEBGIT

4) e1510)10606m60 Bene

adly wrjCasrelst. .l Cxjosmaulsd GQUITHmF([H

alenerey Lol (HeUeTeUBeNB 2 6T SHdBIWISI:

1) swed Gurpsl(ens

2) el 2wy Qursl(pens

3) @y L1 enewililen GeueiGeauml Lomgfluimet
LMerey

4) ®mal e1gIa|D Be0em6V
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An aromatic molecule will:
i) Have 4n n—electrons

ii) Have (4n + 2) n—electrons
iii) be planar

iv) be cyclic

1) i, i, iii

2) i, iii, iv

3) i, iii, iv

4) i, i, iii, iv

Minimum freezing point for given, having 1
molal solution (assuming equal ionisation) in
each case:

1) [Fe(H20)6]Cl3

2) [Fe(H20)sCI]Cl2-H20

3) [Fe(H20)4Cl2]-2H20

4) [Fe(H20)3Cl3]-3H20

Total number of protons, electrons and neutrons
in 12gm 2C is:

1)1.8

2) 12.044 x 10%

3) 1.084 x 10%®

4) 10.84 x 10%

The number of atoms present in 16 g of oxygen
molecule is:

1) 6.02 x 103

2) 3.01 x 102

3) 3.01 x 10*t°

4) 6.02 x 10%

The number of moles of OH™ in 0.3 litre of 0.005
M Ba(OH)2:

1) 0.075

2) 0.005

3) 0.045

4) 0.003

The volume of CO; at STP obtained by heating
1 gm of CaCOs3 will be:

1) 1 litre

2) 22.4 litres

3) 0.224 litre

4) 11.2 litres

The variation of rate constant with temperature
is given by:

1) Van't Hoff equation

2) Clausius — Clapeyron equation

3) Nernst equation

4) Arrhenius equation

1
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@ DICITGLL 19 LPeVEIDBI:

1) 4n T—6T6VHL JTTEITBHM6NS QBTENTIQ(HEHEHLD
11) (4n + 2) T—61608L [JT6TSH6IT

i) @BPHeN aUQAIDTS B HEHBEGLD

IV) GUeD6IUILDTE B)(haELD

1), ii, iii
2) i, iii, iv
3) i, i, iv
4) i, i, iii, iv

CamBaaILL L @elteuth Bopailad 1 Guomeury
sFe0 (FIOWTeT DIEWUTHSD 6TeImI BH(HS)
CBTEIL GHMBHILLF 2_mBHIeN6v Li6iTerN:

1) [Fe(H20)6]Cl3

2) [Fe(H20)sCI]Cl2-H20

3) [Fe(H20)4Cl2]-2H20

4) [Fe(H20)3Cl3]-3H20

12gm léC B0 o eitem  LGITLLIT6IH6NT,
GTeLBLJTEIH6T  LOBMID Bluyl Jreisefler GLoTeH%
61600160011 E56M & -
1)1.8
2) 12.044 x 10%
3) 1.084 x 10%®
4) 10.84 x 10%®

16 g 15nIem6 cpeudanlisd © _6iTen Digmidh o 66
QENEEIER

1) 6.02 x 10t

2) 3.01 x 10%®

3) 3.01 x 10t

4) 6.02 x 105

0.3 &9y 0.005 M Ba(OH)2 & OH™ @i
BomevaeiTlesT 6T6mT6u0N & 6N -

1) 0.075

2) 0.005

3) 0.045

4) 0.003

1 #gmb CaCO3 3 gL TéHGH6USH6T cLpevLd GBI L
STP &6 CO2 Bett Si6a):

1) 1 litre

2) 22.4 litres

3) 0.224 litre

4) 11.2 litres

Geuliupeneouj e alldlgh omplledullen LoTmILITH
LNevTeu(HLOT®I ULMISLILIBE MBS
1) eunesi a1 FLoesTLIm(h
2) dlenmdluierd - dlenmigmest FoeUITH
3) QByeiterol FLoestLIT(H
4) sijaneiuled Fer®
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74. AB, A; and B are diatomic molecules. If the
bond enthalpies of A2, AB and B are in the ratio
1:1:.5and enthalpy of formation of AB from
Az and B; is —100 kJ mol™, What is the bond
energy of Az:

1) 200 kJ mol™
2) 100 kJ mol™?
3) 300 kJ mol™
4) 400 kJ mol

75. Which of the following is an acidic oxide:

1) SiO2
2) SnO;
3) MgO
4) ZnO

76. How many electrons in 17Cl hasn + | = 3:

1)6
2)8
3)4
4) 10

77. Electron deficient molecule is:

1) CCly

2) PCls

3) BF3

4) SFe

78. Hybridization present in CIF3 is:

1) sp?

2) sp®

3) dsp?

4) spd

79. Half — life of radioactive substance is 4 days.

Amount of the substance left after 16 days is (if

initial amount is 1 gm):

1) 1/4 gm

2) 1/2 gm

3) 1/8 gm

4) 1/16 gm

80. In Kjeldahl's estimation of nitrogen, CuSO3 act

as

1) Oxidizing agent

2) Reducing agent

3) Catalyst

4) Reagent

1
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74. AB, A; uwmmib B: spdwemen B Siew
cpevdammidet. Az, AB opmid Bz ey gluwisumnsies

UenewiliL] ereiigmeotiser 1 @ 1 RSN )15
adasHHa0d, Az wppid Bz @amba AB
o mpauteusBaten  eawipreo] —100 kI mol™

SFAD AEHHST, Az e LlewewilL SiBBed
6T60TGT
1) 200 kJ mol?
2) 100 kJ mol™
3) 300 kJ mol™
4) 400 kJ mol
75. UaeumeausiauBled Diflev SLHmFH 615!
1) Si0O2
2) Sn02
3) MgO
4) ZnO
76. 17Cl 60 ardHBHemen slevdL gmeiide N + | = 3 eé
QB TeuT(H 6660
1)6
2)8
3)4
4) 10
77, 616056 GeMBLITH6T6N (LPevSHInml:
1) CCly4
2) PCls
3) BF3
4) SFe
78. CIF3 ®6v 2_6iterm 60l ILN600TSEH60:
1) sp?
2) sp®
3) dsp?
4) sp°d
79. sgdflwss Qurheller ey SLuleT 4 BTl sHeir. 16
BT &EHSSGL LIBG BH(eiten GUTHaTer Siemey
(wg1bu &j6ey 1 gM er6iiBTed):
1) 1/4 gm
2) 1/2 gm
3) 1/8 gm
4) 1/16 gm
80. OmeoLmelem ewBL Jet AT 1960, CuSO4
®eieuTpre GFweoLBGH MBS
1) oudHemIGaiis (LpaE6ly
2) GmBEHGID (1PSHaU]T
3) aleneunuy e
4) alemer smyend
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In the following reacttion sequence
Cl—Cl—-Cl+Cl [

CH, +Cl—> CH, +HCl
CH, +Cl, — CH,Cl+Cl
CH, +CH, —>CH, o CH,
The terminating step is:
1) reaction (i)

2) reaction (i)

3) reaction (iii)

4) reaction (iv)

For the reaction C+ O2 — CO2:
1) AH > AE

2) AH < AE

3) AH = AE

4) none of these

The latent heat of vaporization of a liquid at 500
K and 1 atm pressure is 10.0 kcal/mol. Which
will be the change in internal energy (AU) of 3
moles of liquid at the same temperature:

1) 13.0 kcal / mole

2) —13.0 kcal / mol

3) 27.0 kcal / mol

4) —7.0 kcal / mole

In which of the following pairs, there is greatest
difference in the oxidation number of the
underlined elements:

1) NOz and N2 O4

2) P.Osand P4O10

3) N2O and NO

4) SO, and SO3

A current of 2.0 A passed for 5 hours through a
molten metal salt, deposits 22.2 g of metal (At
wt, = 177). The oxidation state of the metal in the
metal salt is:

1) +1

2) +2

3) +3

4) +4

At 25°C E° for the cell Zn/Zn?* (aq) | | Cu?*/Cu is
1 V. For the cell reaction Zn + Cu*?(aq) — Cu
+Zn*?(aq). The order of equilibrium constant is:
1) 10°%
2) 10%
3) 10%
4) 10%

1
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LesTeu(mLd ailener auflenguisd
Cl—Cl— Cl1+Cl
CH, +Cl— CH; +HCl
CH, +Cl, = CH,Cl+Cl
CH, +CH, = CHj o CH,
W9a|l LIy

1) aflemeur (i)

2) aflenen (ii)

3) afleneur (iii)

4) alemenr (1v)

C+ O2 — CO2 alen e s.
1) AH> AE
2) AH < AE
3) AH=AE
4) Baumplev 1HIaLNe0Mm6V

500 K wipib 1 atm o1wsHsHled @b Slyeus e
apelwimseder o eenens Geuliub 10.0 keal/mol
SG. @8y Geuliuplensouied 3 Glomed Slyeuddest
o o1 ouBmedsyd (AU) gBuBD LomBBL S&iers
B HHGLD:

1) 13.0 kcal / mole

2) —13.0 kcal / mol

3) 27.0 kcal / mol

4) —7.0 kcal / mole

Ueteupld  6hsd  Devewiuiey, SigHGamgL L
&HenTlLomIgs 611l 63T 5HFCeais 6T6mT6u0N60
WaLEUw Caumium® 2_6Tengl:

1) NOz and N2 O4
2) P,Osand P4O10
3) N2O and NO
4) SOz and SO3

o AW o Beors o (i eufluwims S5 wewfl Gpyb
aLbHG OFeveuid 2.0 A ei@enm L 1b, 22.2 &ymid
o Boumadhmas (Wt, = 177 B60) uge| QFUIHBS.
® B o Lfled o eiten o GeursdHHle
GFCeBs Hlenev:

1) +1

2) +2

3) +3

4) +4

25°C E° @ev Zn/Zn?* (aq) | | Cu?*/Cu se0s8 B
1V si6ib. GF6 almaisa@ Zn + Cu*?(aq) — Cu
+Zn"2(aq). swHmev rmileduls euflens:

1)10%

2) 10%

3) 10%

4) 10%

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

87.

88.

89.

90.

91.

92.

www.Padasalai.Net

What is the standard electrode potential for the
cell

Zn | Zn?*(IM) | | Cu®* (1 M) | Cu? for Zn®* / Zn
E°=-0.76 V and for Cu®* / Cu, E° = +0.34 V:
1)-0.42V

2)+0.42V

3)+1.10V

4)-110V

The product of acid—catalysed hydration of 2—
phenylpropene is:

1) 3—phenyl-2—propanol

2) 1-phenyl-2—propanol

3) 2—phenyl-2—propanol

4) 2—phenyl-1—propanol

Group which directs electrophilic species to
ortho and para position is:

1) -OR

2) -COOCH3

3)-CN

4) -COOH

The ionic product of water:

1) increases with increase in temperature

2) decreases with increase in temperature

3) increases upto 40C followed by decrease

4) remains constant with change in temperature

Biology
Which of the following is not a function of the
skeletal system:
1) Production of body heat
2) Locomotion
3) Production of erythrocytes
4) Storage of minerals

Ground tissue includes:

1) all tissues except epidermis and vascular
bundles

2) epidermis and cortex

3) all tissues internal to endodermis

4) all tissues external to endodermis

1
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87. B606FBHTEI HleNEOUITET L GHT(LPENEIT LBV 6T65T60

88.

89.

90.

91.

92.

Zn | Zn**(IM) | | Cu®* (1 M) | Cu? for Zn?** / Zn
E°=—0.76 V and for Cu?*/ Cu, E°=+0.34 V:
1) -0.42V

2) +0.42V

3)+1.10V

4)-1.10V

2—." iememeoL Grminieiesr  oiilev-ailenentul bl
BCIBBSHSlen SwmliiL:
1) 3—. 1Temeneo—2—L|BymiiLenmed
2) 1" 1Sementev—2— Byl iLIesTe0
3) 2—".iemertev—2—1 Byl ILIesTED
4) 2—." .Sewesrev—1—LGymiiLIesnTed

6T6VBL_T6ITHEUT BT 6w BeN6T DLTHECSHT LoBBILD LITyT
Blemevs@ auIPBL-SSHID &1

1) -OR

2) -COOCH3

3) -CN

4) —~COOH

Bfler Fw owel GLI(HESLD:

1) GeutiuBlenev 1P S HlILL 65T DB B!

2) GeutiuBleneo IHSFILL 6T GHmBEBSI

3) 40C oy SBENsADE, SPBH OB b
S®BIDI

4) GeulIuPBlen6v LOTBBEHSIL 63T LOTBTLOED E(HEGLD

Biology
Leleu(heuaiouBled  6TeIDL|HIn{b  SiemLoLIL 6ot
CgwedUT(H B60eVTHS!:
1) o 160 Geuliui 2_BLSHS)
2) Buisbsld
3) e1flgGrmen s Heeien 2 _BLSHS)
4) sngidbseien GFOlIL

H6N FHFiHB61M60 L1eTeU(HeUeT DL BIGLD:
1) GueOBHTed OMBEBID ITEVEHEVTT BHHBEDBHEETS
Sl SIMHIHI HFidbDEMHLD

2) Boe0BHTev LoBMID Limew
3) CIWIBLIOL JIflenrd@ 2 671 2 6iTeN SIHIHSI
A& EMHLD

elamrGLTOL Tl d@F — GeuafGui
SIMTHSHI & T ETHLD

4)

2 GiTer
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Statement I: Surgical methods, also called
sterilisation are generally advised for the
male/female partner as a terminal method to
prevent any more pregnancies.

Statement 1I: Surgical intervention blocks
gamete transport and there by prevent
conception.

1) Both Statement | & Statement Il are incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

94. Statement I: IUDs are ideal contraceptives for the

95.

96.

females who want to delay pregnancy and/or

space children.

Statement I1: Oral administration of small doses

of either progestogens or Relaxin—prolactin

combinations is another contraceptive method

used by the females.

1) Both Statement | & Statement Il are incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement 11 are correct

Statement I: In prokaryotes such as E.coli though

they do not have a defined nucleus the DNA is

not scattered throughout the cell.

Statement 11: The DNA in nucleoid is organised

in large loops held by proteins.

1) Both Statement | & Statement |1 are incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement 11 are correct

Statement I: The packaging of chromatin at

higher level requires additional set of proteins

that collectively are referred to as non-histone

chromosomal proteins.

Statement 11: Digestion with DNase did inhibit

transformation, suggesting that the DNA caused

the transformation.

1) Both Statement | & Statement 11 are incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

1
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ampl | smbHmL  ee@ipid SIS SILBLD
opemey FHFmF  (peBHeT  GUTHIUTH
o0/ QuemT  Hlewenid@  Goeid  HIILSHMBH
EI0EES) Q(h (LPEMGITLL (LPEDBUITES
SI6BI5HSILG S STB6.
gapp 11 omewen HdFws someouih Casibl
BLHIHUMDH — HBHIBSHI LBBID  SIRG
BBSSFImUS SBHSBS.
1) gammi | oBmid gamm | ByeniGd seupreaime
2) aamiml | sflwmeng syemmed gammi | Heumpmeng
3) aamiml | HeumTeng syeimed gapmi | Ffluimens)
4) amu | wBpid sapel 1 @resiho Fflumetene

app |1 siiusdms STosiuGsHs  al[myn
OBDBID/ OIS GHMBBEHHEG B 106MbS
el CueniseEnds@ |UDseiT fpbhs smhdHHemL
FTHAHIGH6IT.

sapm 1T yGITOmeCLIOMSIHT  HisL6VS
fleorsdar-LGymeondiger  Cajbendsemen  Fnslu
SleNTail60 auruie AT dBSHHIHCBT6TEUS
OuemiseT LWSLGSHID LBOBI[H  HHHSHML
(LPEDBUWITGLD.

1) spu | Bpid spe 11 resiBo Seuprearene
2) gapml | sflwneng euenmed gnmml | Heuprerg)
3) gnmml | eumreng eueimed ammm 1 Ffluimerg)
4) gapml | wpmib gpol || @yewiG sflwrereney

apml |: F.Camensv CuTesiy LGTTETHGWIT (HHeed
QUMTWMIGSILULL 2 &M @eveuTalll LTeD,
19.67601.6] QF6L ((LPEUBILD FHMBI9HBLILIBHESHEVEM6V.
gpp 1 pluyselwumuigsd o efem  19.6160T.6]
Uremisenmeo Llgdslu L Gufluw  &Hipsdseried
Q(LDBIGBENLDEBLILIL (TGS,

1) spu | wBpid spe |1 e Seuprearene
2) gapml | sflwneng euemed gmmml | Heupreng)
3) gnmml | eupreng eimed ammml 1 Ffluimerg)
4) gapml | wpmib gpol 1 @yewiG sflwrereney

gpml | 2w L SFe0 GCrmomgenest QLTS uILD
CawIusBE mbBHev Ursmseler OFHT@Liy
CopmauliLbGamg, Dewer Tl LTs  ansler0GLTeir
oleoeuTdH  GCITCLTCFTIDED  LIJHMIS6T 616y
GBIUILLuG &l aseot.

gwmmp  1l: DNase o Lemer  Gsifliomeod
2_BUIBBEDSS 56553, B3 2 GHLTHBIMS
gpubsHHw DNA aaiuanss @nlsang).

1) gammi | oBmid gapm | BrewiGid Heupreareme
2) aamim | sflumeng) oyemmed gapmi | Heumpmeng
3) aamml | HeumTeng) syeimed gapmi | Ffluimens
4) gapml | wpmid gpml 1 @yewiGd sflwirereney
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The primers used during annealing step of PCR
are:

1) Polypeptides

2) A type of nucleic acids

3) Lipids

4) Carbohydrates

‘The integration of natural science and organisms
cells, parts there of, and molecular analogues for
products and services'

Above given sentence is

1) Definition of bioinformatics

2) Definition of biotechnology

3) Special method of tissue culture

4) Special method for hybridisation

Statement I: Some plasmids may have only one

or two copies per cell whereas others may have

15-100 copies per cell.

Statement 1l: Plasmids and Bacteriophage have

the ability to replicate within bacterial cell

indepedent of the control of chromosomal DNA.

1) Both Statement | and Statement Il are
incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

100. Which one of the following 4-carbon

containing compound forms in mesophyll cells:
(a) OAA

(b) Malic acid

(c) Aspartic acid

1) Only a

2)Only a, b

3)Onlya, c

4)a, b, c

101. What is not true about bundle sheath cells of

maize:

1) They have numerous chloroplast

2) Intercellular spaces absent

3) Their walls are not impervious to gaseous
exchange

4) Their walls are thick
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97. PCR @1 9@fedm  uwguiesr  Gurgl
LWSTUGSSLILBLD (LPSH6ITenLD EenLDSHEIT:
1) uredGLICIEnL (Hab6iT
2) @b auend Huydbelld Sifleomiser
3) I Bse6IT
4) smyGumenamt’ Gyl BHeeit

98. “‘BuBmas oPlalwed WBBID o ulflemisere
CFeLH6TT, SIUBNIGHT LITSRISET BBID CLITHL SH6IT
LOBmILD BF 661 6ThEb HIT60T CLP6LSFn |
QUILIEDLOS6M 6T (RIS emeuoTi L]

BoBev OBTHHBLILIL L eUThSWILD

1) 2_ulij s&a160Wied alenyuIen?

2) 2_uilf) QFTH6eOHEIL LIS 6T auemIULIens
3) Fa eaueniriest ABLIL (v

4) seolINeTDTehHeNIGBHT6T FBLIL (LD

99. gammi I: flev LenmerdLOL 61T e CFeLelBE, Q6B
Slevevd ATewih LIggHlsen Ll BOWL EmEH®H6UMLD,
woppeyal @  GFedBE  15-100 Uydser
B\(HSHHELTLD.

BBl Il LenmeroLiL el LOBEILD
ursleflEGWTGU®6i &GrTELTGFTLOTED 19 6TetTelal6oT
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1) spu | wBpiId spBu |1 ByesiBo Heuprearene
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4) gapml | wpmid gpol 1 @yewiGd sflwrereney

100. 5@amied GFevdeMed LNedTeuHD 4—BHTTLIGH
OBTEIL. HeVeN6 © (HeUTHBSI:
(@) OAA
(b) wrelé of6vID
(€) @ieroumigsd Sfe0LD
1) Only a
2)Onlya, b
3)Onlya, ¢
4)a, b, c

101. waéanrFGamens a1 sBens ©_mm ClFeo®6lT LB

SHEUBTEIH!:

1) omen  gymemomer  &GemmGrmilenTearvenL &
QaTemT(BeiT6I60T

2) @@L F0F B0 Bl CaleBelT Be0emev

3) owupBar seujse ey UFLIBBSHBGE
261 (h(THoUHInIQUIEN6) B|6V6V

4) S1uBMleT HaUTEH6IT HIGLDGTTH  _6IT6m6

1
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102. Statement I: In a polygenic trait the phenotype
reflects the contribution of each allele i.e the
effect of each allele is additive.

Statement Il: Besides the involvement of
multiple genes polygenic Inheritance also takes
into account the influence of environment.

1) Both Statement | and Statement Il are

incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

103. Statement I: The colour blindness is due to
mutation in certain genes present in the X-—
chromosomes.

Statement 1l: The colour blindness occurs in
about 0.4 percent of males and only about 8
percent of females.

1) Both Statement | and Statement Il are

incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement 11 are correct

104. In which human the chromosome number are
46:
a) Colourblind women
b) Colourblind man
c) Haemophilic man
d) Females with Turner's syndrome
e) Females with thalassemia
1c,de
2)a, b, ce
3)a, b, e
4)b,c, e

105. How many matching are Incorrect:
a) Feminine development -
Syndrome
b) Development of breast — Gynecomastia
c) Sterile female — Klinefelter's syndrome
d) Big and wrinkled Tongue — Down syndrome
1) Three
2) Four
3) Two
4) One

Klinefelter's

1
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606U 9|60656068T LIMI& 61T LI6MLIWL|LD
r&Huedsapal, DISTaIH @aICeUT(H Sle0eS6VI6T
allewenalld CFIdHemad HGLD.
gppl 1: uev wyueIGHeler FHUT LS Haly
uTedegenics LoLyflemio FMBBIFF, LDVI6HT
CFELUTHEMBUILD HeWIHDI0 61(HSHHIHOBTETHBS.
1) gammi | oBmid gxmm | ByeniGd Heupreaime
2) aamiml | sflwmeng) spemmed gammi | Heummeng
3) aaiml | HeupTeg seimed snmmi | sflwimens)
4) amu | wBmid apel | @yesiho Fflumetene

103. aamm |1 X—@CynGunBsmibzseflsd o siten Hlev
LTLEISHH6MN0 gBLGBLD LIBLDeyEH6enTed BIBdEH®B
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apy Il PpsemG  asworg 0.4 gzpels
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1) gammi | oBmid gapm | ByewiGid Heuprearme
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3) aamml | HeumTeng) Syeimed gaBmi | Ffluimens
4) ammul | wpmid apel 1 @yesiGo sfluimeatene

104. s1bs wearlzpaied &BymBLm@aib srewr 46:
a) BBeE&HB CLIewTSH6I
b) Pma@&mG @pem
C) anSGuomiledds SyeuT
d) Lieony Grruis@Gn 2 _elten QLIGwIS6I
e) seodIwIm 2_6iten QLGRS
Dec,de
2)a, b,ce
3)a, b, e
4)b,c, e

105. a1dhgHement QUT(HSHBBIB6N SHeUBTETEN6

a) QuewT auenyFdS - BlenenaGedL J GBTUISESHN

b) wrius eueny&d) - ena@aGHTIDTeOIQUIT

C) el BhoHeeno  Gsmewi  Quewr -
slenenetGLeOL T GBTuIch@EH

d) Quilw BBID FHEBSHDOTET HTHEG - Loy
CEONESE )

1) Three

2) Four

3) Two

4) One
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106. Another Interesting observation supporting

evolution by natural selection comes from
england. In a collection of moths made in ____,
i.e. before industrialisation set in, it was observed
that were more white winged moths on trees than
dark—winged or melanised moths:

1) 1830s

2) 1850s

3) 1860s

4) 1820s

107. The first cellular form of life did not possibly

originate till about years ago. These were
probably single cells. All life forms were in
water environment only:

1) 2000 million
2) 3000 million
3) 4000 million
4) 1000 million

108. Statement I: The mammary glands of the female

undergo differentiation during pregnancy and

starts producing milk towards the end of

pregnancy by the process called lactation.

Statement Il: The milk produced during the

initial few days of lactation is called colostrum.

1) Both Statement | and Statement Il are
incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

109. In human male reproductive system, secretion

of which gland constitute the seminal plasma:

1) Paired seminal vesicle, paired prostate, a
bulbourethral gland

2) Paired seminal vesicle, a prostate, a
bulbourethral gland

3) A seminal vesicle, paired prostate, paired
bulbourethral gland

4) Paired seminal vesicle, a prostate, paired
bulbourethral gland
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106. uBens Caxyaile cpeold LIflewiTio euenjFFlenwl

FHFHGD OBOBTH SFEUTFEOUILDTET Di6USHT6LIL]
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1) 1830s

2) 1850s

3) 1860s

4) 1820s
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WIBHBEHSHE — (PSIL]  GUMT @g,nm@uj@
aumIlideoemner. Bewer  OICHSLTE  QMeMB
OFLSH6NTH B\(H&&H60MLD. SIS
o uffleommisEmd B %6060 L B B)(hHbHeo:

1) 2000 million

2) 3000 million
3) 4000 million
4) 1000 million

108. gamml |1 Guewtenilesr LTI 19 &FUILS6T &HFLIL

BT0HFH60 Coupum 19B@ o L LBSlement wBnID
STULUSIHST  (palled LT (BHHe0  eTearlILBLD
CFweO(Lped®B  (PeUD UT6L 2 MusHg Leuiwg
OHTLmIG S 63601

gmpp 1 ureum’ L eder syyibu Fev BT HerMle0
2 BuSHE GEFLIWILGD LITed GBTeVerOLJD 6Iely)
SIMPSHBLILBBBSI.

1) snpm | Bod spe |1 e Seuprearene
2) gmml | sflwneng euemed gnmml | Heupreig)
3) gpml | eupreng ueimed ammm 1 Ffluimerg)
4) gapml | wpmid gpol 1 @yewiG sflwrereney

109. wefls e ANICLMHEBS DT, 61hHdH

agygufuflesr sy QFwered  Llenmerdiomeney

o (HUTHSGHIMSHI:

1) gflewent OQalemed  Geudlaed,  giflenewr
yGymerdBLL, e LevBumuyflsred &yl

2) gilewewt QFifemed Geudlaed, b LGTTeGLL,
@b LeoBLTUYfSHT60 &L

3) @ GFiflaed Ceudsed, gianenr LGTTerOGLL,
gflemenr LeoBumy &0 &y

4) gflewent GFiflered Geudlmed, @b LGTTerdGLL,
gflemenr LeoBumuyfgyeo &yl
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110. Which one of the following is not correct

regarding the endomembrane system:

1) Formed by those organelles whose functions
are well coordinated

2) It consist of endoplasmic
microbodies and peroxisome

3) It consist of endoplasmic reticulum, golgi
complex, lysosome and vacuoles

4) Both 1 and 3

reticulum,

111. What is the NAD and NADP:
1) Coenzyme
2) Cofactor
3) Vitamin containing chemical
4) All

112. A common character of dicot stem and dicot
root is:
1) Exarch protoxylem
2) Endarch protoxylem
3) Occurrence of secondary growth
4) All

113. Statement I: The reserve material in prokaryotic
cell are stored in the cytoplasm in the form of
inclusion bodies.

Statement Il: Besides flagella, pili and fimbriae
are also surface structures of the bacteria but do
not play a role in motility.

1) Both Statement | and Statement Il are

incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement 1l are correct

114. Statement I: The cell wall of a young plant cell,
the primary wall is capable of growth which
gradually diminishes as the cells matures and the
secondary wall is formed on the inner side of the
cell.

Statement 1I: An improved model of the structure
of cell membrane was proposed by Singer and
Nicolson (1972) widely accepted as fluid mosaic
model.

1) Both Statement | and Statement Il are

incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

1
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115. Statement I: Amino acids are organic 115. gamm |1 9uiGeim  SIO6URIGBET 6TeILIGI (I

compounds containing an amino group and an

acidic group as substituents on the same carbon

i.e. the a—carbon. Hence, they are called a—amino

acids.

Statement I1: Living organisms have a number of

carbon compounds in which heterocyclic rings

can be found. Some of these are nitrogen bases

Adenine, Guanine, Cytosine, Uracil and

thymine.

1) Both Statement | & Statement 11 are incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

116. Statement I: Adult Human haemoglobin consist

of 8 sub units.

Statement Il: The enzymes isolated from

organisms who normally live under extremely

high temperatures (e.g. hot vents and sulphur

springs), are stable and retain their catalytic

power at high temperatures (up to 80°-900C).

1) Both Statement | & Statement Il are incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

117. Statement I: JGA is a special sensitive region

formed by cellular modifications in the distal

convoluted tubule and the afferent arteriole at the

location of their contact.

Statement 1l: Tubular secretion is also an

important step in urine formation as it help in the

maintenance of ionic and acid base balance of

body fluids.

1) Both Statement | & Statement |1 are incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement 11 are correct

118. Select the incorrect statement for Abscisic acid

1) It acts as a general plant growth inhibitor and
an inhibitor of plant metabolism

2) ABA inhibits seed germination

3) ABA helps seeds to withstand desiccation and
other factors unfavourable for growth

4) In most situation, ABA act as an antagonist to
ethylene

|

SIOCT G LOBEILD @h Dilevd G(pener Gy
STIUaled  OIBTUFH  O-HMTLNED  LOTBBTHS
OamewtL &flio BFTIomIB6T G IWD. 61606, Hienal
o~ SILOGeorT SOOI 61T
SIMIPHBLILIBHE BIB6IT.

gl | 2_ulflemisei Lev SMjU6sT CFJLOmIGm6Nd
OmTewi(Beitenet, SlaUMBled LGOI  GUEN6ITU
GaimomizmeT  sTewTlILBGSemer. Seoupple0  Flev
MBL TG  HMJRIGB6T  DIQeNEI6II,  (&H6UTENEIT6T,
gL BLrdleir, Wymdled LOBBID G LO6T.

1) gammi | oBmid gapm | ByewiGid Heupreareme
2) aamiml | Fflumeng oyemmed gapmi | Heupmena
3) aaiml | HeupTeg seimed snmmi | sflwimens)
4) ammul | wpmid apel 1 @yesiGo sflwrerg

116. appi | suwig eupbs wellg ansGom@Csnmiier 8

HIENEWT HI6VHHM6NH OIHT6uT (BTG

apm |: Qurgians s oi8s GeuliLBlensouled
(e1.88M.  HLMOT  SHIQUTIBIGGT  OBBID  F6e0OLIT
(BB MIH6IT) QUT(LDLD o _ulflenmiseied bl
SONLILGSHSLILL L. CBTHSET  [HlensoulTereney
BB 9IFs GeuliuBeneouisd (800-900C suewiy)
SjeuBnleor allene s FohIHmUIG
SHDHBM6USH S8 0B T6TEHIB6T.

1) spu | Bpid spe 11 e Seuprearene
2) gapml | sflwneng eyenmed gnmml | Heuprerg)
3) gnmml | Beumreng eyeimed ammm 1 Ffluimerg)
4) gapml | wpmib gpol || @yewiGo sflwrereney

117. a=pm |1 JGA aeiiug) Gaulend S(memiL @LTul

BBID Bemewilil] Hwelulled o eien GlFe0aIEVT]
LOTBBRIGEMTEL @ (HeUTGHLD @(h FBLIL| ©_6ur SSmest
UGSSHWITGLD, gOlaeied Dlene GHTL L] C\BT6TErHLD
BL 6L 2_siTerent.

gppl 1 @omul syoy HBIbT o (heaureudled @b
(PSS WIDTeT  LIQUIT@GLD, goleeled &g o L 60
Froumisefler owel  OBBID  SUbled  HTT
FLoBleneven W LFTLOflSs 2 56 sBSl.

1) spu | wBpId apu | ByesB Heupmerene
2) gapml | sflwneng euemed gnpml | Heupreg)
3) gnmml | eumneng eyenmed dmmm 1 Ffluimerg)
4) gaml | wpmid gpml 1 @yewiGd sflwnetenel

118. ondds Ife0HHBHTET HAUBTRT  FnBeDBSH

BIHOBBHSD
1) @3 om Oursmeuter HTeuy  euenyFd
SHBLILTEITSH|LD ST alenFlend

LTBEBHMBSH HBLILSTEHLD QFweOLBEBSI

2) ABA aileang (ipeweniiLiengd HBHEHS MBS

3) ABA alwaser eaupl fouwldh SHTRIGD
eIFHdH@ FTHHOBB LB  STJ6w0THm6rT
SEIBA|LD ©_56|B B!

4)  Qugpbumeoter & pBleneuserlen,
153 e5aIb@ 1Hflwms GFwesdLBSHBSH

ABA

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

119. Which one of the following taxonomic category

are similar in between lion and monkey
(@) Phylum

(b) Class

(c) Order

(d) Family

1ab

2) Only a

3)a,b,c

4)a, b, d

120. How many are the incorrect match
A) Pseudopodia — Amoeboid protozoans
B) Flagella — Trypanosoma, Gonyaulax
C) Cilia — Euglena
D) No locomotory organelles — Plasmodium
1) 4
2)3
3)2
4)1

121. How many matching are correct:
a) Oogonium — Male sex organ
b) Antheridium — Female sex organ
c) Wolffia — Smallest Algae
d) Laminaria — Used as a food
1) 4
2)3
3)2
4)1

122. How many characters are similar among
Bryophytes,  Pteridophytes, Gymnosperms,

Angiosperms:

a) Embryo formation

b) Vascular tissues

c) Independent sporophytes
d) Dependent sporophytes
e) Independent gametophytes
f) Dependent gametophyte
12

2)3

3)4

4)1
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119. Uateumid auenaLIflSHHe0 aemBH6Me0 618 HIHLD
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LNenmerd@LomiguiLb

14

2)3

3)2

4)1
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1)4
2)3
3)2
4)1
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2)3

3)4

4)1

1

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

123. Statement —I- Cells, tissues, organs and organ

system split up the work in a way that exhibits

division of labour and contribute to the survival

of the body as a whole.

Statement—I1— Each organ in our body is made of

one or more type of tissues.

1) Both Statement | and Statement Il are
incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement 11 are correct

124. Assertion (A): In Neem the leaf is pinnately

compound type.

Reason (R): In leaf of Neem the incisions of the

lamina reach up to the midrib breaking it into a

number of leaflets.

1) A and R are correct but R is not the correct
explanation of A

2) Ais correct but R is not correct

3) A is not correct but R is correct

4) A and R are correct and R is the correct
explanation of A

125. How many matching are correct for frog

(a) Frog — External ear is absent

(b) Bidders canal — Part of Ovary

(c) Mesorchium — Double fold of peritoneum
(d) Testes —Two pair

1) Three

2) Four

3) One

4) Two

126. Select the correct statement for the root hair

(a) Root hair absorb water and minerals from the
soil

(b) Present in region of maturation of the root

(c) It is very fine and delicate, thread — like
structure

(d) Epidermal cells form the root hair

1) All

2)a, b, c

3)b,c,d

4)c,d

127. The smallest stage in M—phase of cell cycle is:

1) Anaphase
2) Metaphase
3) Prophase
4) Telophase

1
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Gure Flw BemevdenTall LleTeUL 19(HEELD.

1) A oppib R aflwmerenen eyemmed R ereiig A
Be1 Ffluime alenéhald HJ606V

2) A sflwinesigl spemed R Ffluimesigs ©i6060

3) A Fflwinenigl Sievev yemed R Ffluimeng

4) A wppib R sflwnetensy wpmid R ereiug A
®er Fflwimen alleN&HID QLG

125. geuenend @, 61dHHemenn QUT(HSHSHHISENT FFIUIT6Tene6l
(2) seuemer - QeueiimB BT B0V
(b) I LT sBmedeumU - S(HLIEHLILTNGT LIS
(c) BBamgflwid - Ui CLrelwsHHer S enL
LDIQLIL|
(d) elbpamissei - QyemiG Qe
1) Three
2) Four
3) One
4) Two

126. Gou (p19&@ Fflwner gnBensg CHIbO&HHEHHaD

@ Gy g wewienled®hbal By  wBHID
SHTHIEBMeT 2 NehFH S MBS

(b) Goufles (pFHiF&FAulesr LGHuTed 2_6iTerTg)

(c) Bz WsaD HIERIWLSTHOID GLOGTELDWITET
STHD, HIeL  CuTaiB  SIMWLILTHALD
o GiTeng)

(d) GuweuBsmed  Ggevmel  Geu  (LpigEMU
© (IH6UT (& evTmen

1) All

2)a, b, c

3)b,c,d

4)c,d

127. Qg6 apBfuiest M-mBlemsouiled s&pfiuwt Blemev:
1) ojemGuerd
2) Gt LmBLierd
3) LGymGuierd
4) 10BeorBLierd
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128. How many matching are correct:

a) Female secondary Sex characters — High pitch
of voice

b) Androgen — Anabolic effects on protein

c) Estrogen — Regulate female sexual behaviour

d) Progesterone — Stimulate the formation of
alveoli in mammary gland

1) Two

2) Four

3) One

4) Three

129. In respiratory system the alveoli and their ducts
form
1) Conducting part
2) Exchange part
3) Respiratory part
4) Both 2 and 3

130. The dorsal portion of the midbrain consists

mainly of __ swellings (lobes) called corpora
Quadrigemina.:
1) Four Round
2) One Round
3) Ten Round
4) Six Round

131. Which one of the following is the incorrect
match
1) Cranial bone — Axial skeleton
2) Facial bone — Axial skeleton
3) Sternum — Axial skeleton
4) None of these

132. How many tarsals are present in ankle
1)7
2)8
3)5
4)3

133. Statement I: The Cotyledons of the embryo are
simple structures generally thick and swollen due
to storage of food reserves (as in legumes).
Statement I1: Occasionally in some seeds such as
Castor, Barley and beet, remnants of nucellus are
also persistent.

1) Both Statement | and Statement Il are

incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

1
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128. s1g3meu GLIT(HSHHBISET FiflUITeTens:
a) OQuewt BJEWILTD BHleweo LITeJ6T LIGwIL|H6rT -

2 Wibs &Iev

b) ouemi Gyrmest - LISHSHHe0  eueNTOTH®
allene61T6)H6iT

C) merOL Bymegest - GQuemt LTeOWId [BL SHendHeniLl
PURGUBHBIFH0

d) yGymOmedr 19Gymer - umeuTLlg  &Jrniufed
SIe0TIGWITEM6L 2 _(HaUTeUmSH S HIT6wT([HH60

1) Two

2) Four

3) One

4) Three

129. gseurs  Sewliled  eLalCWITeNeD  LOBBID
SUBMBlET GLTUISET BFHeN6T ©_(HeUT () 6360
1) &L gaIb LG
2) uflomBBl UGS
3) Founal1 LGS
4) @yewi®Bid 2 wimib 3

130. mhewenemuiler (WPHGL UG (WPHHWLTS
STIGUTIT  Geurl_flogilenmT  sTeNILIBHLD
aibBHBIBM6ND CBTT(H6ITeNSI. .

1) Breiie shul
2) 9@ spml
3) uBsI HH
4) supl SBm

131. eteumeuaTeuBSey 6181 HeumTent QUIT(HE S LD
1) W6wTemL 6TEVIDL| - &IF G GTEVILDL|EFn (B
2) (1p& 6TGVILDL| - SIFE GTILDL|SFn(H
3) OO - $IFE 6TVIDLIHIn ([
4) @aummlev 1HIaLNe0Mm6V

132. 3am15316060 615 GHm60T LTTF60H6I 2_6IT6IT60m
1)7
2)8
3)5
4)3

133. gamimi |: smaler (penend@HeHgHIHeT QUTHIITH
SQLOAMHD RS WSTEOD BHEHEGHLD  eleflul
&L LeWlILEH6T, eOaalied SleuBmled o w6y
Smriusbser  (UmOY  euemssamentl  Gume)
Ga10 B &L ILIB S ITB6T.
agpml 11: eriGuraTeug i@, Lmjed Bp3ID
L epl Gumeirs Flev allewdderiev, mluyolFeveverdesr
STHFFRIBEHLD [HlEN6OWITS B(HHGLD.

1) spm | wBpid spBu 11 ByesiB Seuprearene
2) aamiml | sflwumeng opemmed gammi | Heummeng
3) aaiml | HeupTeng seimed gnmmi | Ffluimens)
4) amu | wpmibd sapul | @yesihio Fflumetene
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134. At which temperature storage of pollen grains
of a large number of species for years in liquid
nitrogen is possible
1) -96°C
2) -196°C
3) +196°C
4) -100°C

135. It was only in __ that James watson and
francis crick based on the X-ray diffraction data
produced by Maurice wilkinsand
1) 1956, Erwin chargaff
2) 1953, Erwin chargaff
3) 1953, Rosalind franklin
4) 1962, Rosalind franklin

136. Assertion (A): A given species may occupy
more than one trophic level in the same
ecosystem at the same time.

Reason (R): A sparrow is a primary consumer

when it eats seeds, fruits, peas and a secondary

consumer when it eats insects and worms.

1) A and R are correct but R is not the correct
explanation of A

2) A is correct but R is not correct

3) Ais not correct but R is correct

4) A and R are correct and R is the correct
explanation of A

137. Select the Incorrect match for mutualism:
1) Ophrys — Sexual deceit
2) Male bee — Pseduocopulates
3) One petal of Ophrys — Resemble with female
bee
4) One sepal of Ophrys — Resemble with female
bee

138. A - He also emphasised the need for initiation
of work on artificial culture of immature
embryos.

B - His work on test tube fertilisation and Intra—
ovarian pollination won worldwide acclaim.
The given sentence A and B are related with
which scientist

1) Only A — Panchanan maheswari

2) B — G.N. Ramachandaran

3) A and B — Panchanan Maheswari

4) B — Ramdeo mishra

1
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134. FHyou evplymefsd LD eEwIBHNTS DIHD
stevtemibemndsulevmen o ufflenmiseflen OSIHSHH
SHIBETHM6N 61[HSH GlaulILBlensouied CFL0ldas (LpIgu b
1) -96°C
2) —196°C
3) +196°C
4) -100°C

135. wrfled allevdaierd BmId _ opalGuimymed
sumfléesiu’ L X—-s81 ealefibysdh Hyeyseret
SlgliLenL_uiled Gelberd euml geot LOBMID LAFTesrdlerd
difld __ Be 10 GC BhhHaHS!:

1) 1956, erirailest gy L1
2) 1953, erjaileir gy .[1
3) 1953, Gyramedeuwr Lymmhiderieir
4) 1962, Gynamedewi LNymhidhefer

136. amm (A): @® GBIl L end @Gy GhyHaled
0y FBMIFHLD DIEMIOLILND QeiTmIdE GoBur L
26 | [Hlen60&Hm6N i8I0 BHSHEm BLD.
smyenid (R): @®m &mal alensselr, LIDPBIGET,
ulLmeni opdlweupens FTULIGELOUTSH DIFH @
WHeiemd  BISTCMTT LoBE@ID LFFHeT  LoBE3ID
Yupddemen  gmilGLCUTg I @FewiLmd  [Hlenev
BISTCaTT SYGLD.

1) A opmib R Sgemipo ) eyemmed R eresiugy A
&@& Fflimenr allendbald HJ606V

2) A sflwinesig opemed R e1asiug &) @evenev

3) A Fflwimegl Siev60 Syemmed R ereimig Fifl

4) A oppib R @rewied 5§, R eaiug A &G
Fflwimenr alleNbaslD H606V

137. udibgk  UTEWIOD  (LPEDBSHBTET  HoUBTET
CUTBSSSMBS CHIHOIBBHSLD:
1) euiiflerd - UTEIWIed GUEhHFHID
2) oyt Bxef - &, 8L TBHTLGL Hebeir
3) uiflerd @sip - Gew CHaiiL 6l @& HSELD
4) oyifled @51 - GlLiewt CaelLiL 6l @SB HBGLD

138. A - wgFFdwemLwng sHbHeien CFLBeND
eIy GNSHS Umismend OCHTLMiGeHe6T
SIUFWISHDSHUILD DIGUT 6160IU|BISH 3 6T .

B - Gangmend @TUl SbHHHfHH0 LOBBID
S(HLIMLSG6T WETHHF CFIbansd GHNHSH DT
L6l @ _eugsenmmaiul LmgmlenL L1 QuBBS.
OaTheHsILL L eurdswbd A Bpib B eaps
alleh@EbTeNuL 6T GHTLJL|eDL WG

1) A w8 - uehFarest GserOauI

2) B - G.N. gmo&apbdyes

3) A B B — uighaeuest 108serdeul

4) B — gmbgdGuim 1hlegym
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139. Select the Incorrect match:
1) Ascaris — Endoparasite
2) Haemophilus influenzae — Endoparasite
3) Salmonella typhi — Endoparasite
4) Aedes mosquito — Ectoparasite

140. Which is the scientific name of Carrot grass:
1) Parthenium somniferum
2) Parthenium hysterophorus
3) Eicchornia crassipes
4) Clarias gariepinus

141. The structure which provides vascular
connection between foetus and uterus is called

1) Placenta
2) Oviduct
3) Fimbriae
4) Cervix

142. Select the Incorrect match:
1) Azotobacter — Nitrogen fixing cyanobacteria
2) Oscillatoria — Nitrogen fixing cyanobacteria
3) Azospirillum — Nitrogen fixing microbes
4) Rhizobium — Nitrogen fixing bacteria

143. _ Accomplished this in 1972 by isolating
the antibiotic resistance gene by cutting out a
peice of DNA from a plasmid which was
responsible for conferring antibiotic resistance:
1) Stanley cohen and Herbert Boyer
2) Stanley cohen and Taylor.

3) Taylor and Herbert Boyer
4) Stanley cohen and Alec Jeffrey

144. Statement I: The choice of genes depends upon
the crop and the targeted pest, as most Bt toxins
are insect—group specific.

Statement I1: All strains of Bacillus thuringiensis
produce proteins that kill certain insects such as
lepidopterans, coleopterans and Dipterans.

1) Both Statement | and Statement Il are

incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

1
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139. seuprer QUTHGHSHHMHSH CHIHOSHBHBMLD:
1) oiervamflerd — &iBeL (HevTen
2) anfBLomLleverd EY6br.” .LIEThTUIGTENOT —
SIBRL_(Hevineuo
3) gmeuBioTEeTeeVT L. .11 — SiBeL ([BewTent
4) ggerd O&ra: — UseL [Heureun]

140. a1 yeveles SiNflamuled GILILIT 6T6sTedT:
1) unjsgeiuib Cambef. .OLIFLD
2) unysdeiwid anerdL Gym.”.Gumyerd
3) ;&Gamyefiwim dlyrdliiend
4) denmflwimerd GsiflLNevmerd

141. smaysb@b HHlmUSGD QLB auTerd@HevJ
GOeIllenll  UPRIGLD  DIEDLOLIL] 61601
SIMIPSHBLILBH MBS
1) Behas6®Tg
2) S(H(PL ML GLOTUl
3) .. b Nflwim
4) s@HlienL eumul

142. seupne QUTHSHHHMHSH CHIHOHBHBMLD:
1) oBFT@LIUTSLT — DB FER6 BHeneOLILIBHHID

FuwGeorTumblefluim

2) agenfeol GLmfluwim — enbL a6 HeneoliLBHSBID
FuIGeorTLIT LU

3) ©IB8FTerOemLIfl6L6VLD — DL FE6HT
BlemeOLILBSHBID [HI6vsT IS 6iT

4) eoyGamiwb - Bl ImeT HmeuBBIGHHID
umdlefluim

143. 1972 sub Sewiged  QLeuTigLIUITIgSH
aIgTlIemL QULDMHIGH U SHBS) BITIJ GOOTLDIT 60T

WenmeroLiIL19eSl(hb&I 19.6T60T.aJall68T &(h LiGHemul
OCeully  SpewngUWITdh  GTHFTUL  LOFLGDIENE
SN ILIBSHHIUHET CLPeVLD BnHF FTHHHJ:

1) er0Lmes16l BTau6sT LoMBMID GamFL Guimwiy

2) eroLmestel) GBTamedt LBMID GIL U 16V

3) QL ulevy @D Gamyugt Guiruiy

4) evoL_meel) Camamest BHID &I6evd 61eg. .01

144, sepm |1 wjuemisseier Gxie LU LOBBID
Adg yFdowl  QuTpSHSSH, gL
QumLbuTeOTedT LTIg bFHH6IT L EFF -G (D FTIHHEN6M.
gl 1 Gudleverd giflehFOweFlender Sieneansha

R QI Qoo NG IgyTeIsE6NT,
GamellGWIT I TeTa6T LOBMILD QL IgTTesTa6T GLIT6T3
oo  y&Fdaemend  OBTeLID  LTHHISHEET
© (IHEUTE & eTmenT.

1) gamm | oBmid gapm | BrewiGid Heupreareme
2) a3 | sflumeng) oyemmed gapmi | Heupmeng
3) aaiml | HeupTeng seimed gnmmi | Fflwimens
4) ampm | wpmid apel 1 @yesiGo Ffluimeatene
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145. How many animal are triploblastic chordates:

a) Sea Pen

b) Sea hare
¢) Sea Urchin
d) Sea lily

e) Sea fan

1) Three

2) Two

3) One

4) None

146. Select the correct statement for Chameleon,

Cobra and Testudo:

a. All are poikilotherms

b. All are Coelomate animal

c. All are belongs to same class

d. Closed circulatory system present
1)Onlya, b

2)a,cd

3)a,b,d

4) All

147. Select the correct statement for Malvaceae

family:

a. Capsule type of fruit occurs

b. Twisted aestivation of corolla present
c. Numerous stamens present

d. Flower bisexual and actinomorphic
1) All

2)b,c,d

3)a, b, c

4)a, b, d

148. How many matching are correct:

a. Feathery stigma — Poaceae

b. Versatile anther — Poaceae

c. Glumes and lemma — Poaceae

d. Pappus — Asteraceae

e. Lomentum type of fruit- Caesalpinioidae and
Mimosoidae

1) Five

2) Four

3) Three

4) Two

149. Select the Incorrect match:

1) GIP — Gastro—intestinal tract
2) Glucocorticoids — Adrenal gland
3) TCT —Thymus gland

4) Erythropoietin — Kidney
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145. e1dhmmen allevnhiG 6l cpalBsE) (PHIOBILDLI®6IT
a) &L_60 GuiestT
b) sL6v (puIed
C) &L6v SJFSar
d) &L 60 696060
e) sLev aldn
1) Three
2) Two
3) One
4) None

146. u&FGamhH ), BTSULTLDL LOMB3ILD
CLer0(BBLTaIBSTe0T gifluimeor FBOMBS
CxbIBB &S
a. SlmaTHGID CUTUISBeuTOSHTIDS6IT
b. SimeangaiIb F8eorGOL alevmiE
C. SimeaHHIb @B auGLlienud CaiboHme
d. eigut &BEBTLL SienLoliL 2 _6iTeng)
1)Onlya, b
2)a, cd
3)a,b,d
4) 9ImRNHHID

147. wmedBeudl GBLUSHMSTE FHWTET FnBeWBSH
BaibOBBHSID:
a. SMIerOW}60 eUemd LI gBUBEBSI
b. &0efeu LD (WwmIssILL L CHTBMBLD
C. JITGIILDT6O OS] THBHRIBGT 2 6IT6TT60!
d. eV B(HLITEL MBEID SLFFFIDFFT
1) simeaigHsIb
2)b,c,d
3)a, b, c
4)a, b, d

148. eiggemen QUT(HSHHBIS6T FfluiTerene:
a. ®m& Cureiis @eoplg - CuUTCUIA
b. gilped BewewtiiL &HIHSHLD - GUTGUIL]
C. SeepLberd oBmILD Glevbom - GuTGI
d. umiuend - &ereIL Grd)
e. GeuTOWeEILID auend LIpD - FFeolleflGurGL

BB WGWTFTUIGL

1) Five
2) Four
3) Three
4) Two

149. geuprer QUTHHHHMBSH CHIHOHBHBMLD:
1) GIP - @emylienL—@L 60 LTend
2) &6hEBCHTHTIL 19HTUIBHH6T - iU Fere0 Gyl
3) TCT - engioerd &g
4) el SBrmumungest - HBIBTasId

1
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150. Select the Incorrect match:
1) Rapid spasms — Tetany
2) Osteoporosis — Increased chances of fractures
3) Muscular dystrophy — Autoimmune disorder
4) Gout — Inflammation of joints

151. In the given example how many organism are
unicellular.
Gonyaulax, Euglena, Mycoplasma,
Amoeba, Trypanosoma, Methanogens.
1) Five
2) Four
3) Seven
4) Three

Nostoc,

152. Which of the following are not a heterocyclic
compound:
1) Alanine
2) Adenine
3) Cytosine
4) Uracil

153. Which one of the following are not a plasma
protein:
1) Fibrinogen
2) Albumin
3) Globulin
4) Haemoglobin

154. Which of the following is not Involved in
gametophyte in Angiosperm:
1) Synergid
2) Generative cell
3) Antipodal cell
4) Stigma

155. DNA as an Acidic substance present in nucleus
was first identified by Friedrich meischer in __.
He named Itas _ .

1) 1962, Nuclein
2) 1869, Nuclein
3) 1859, Nuclein
4) 1869, Nucleosomes

156. Which one of the following organisms produce
Heterogametes:
1) Hens
2) Male grasshopper
3) Male human
4) All
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150. euprer QUTHhGHSHHMHSH CHIHOSHBHBMLD:
1) efenyeumet LNgri| - G L efl
2)  operoigBuinBGun@yrdlerd - eTeVIbL]  (LPMSl6)BaT
SIH B BESLID UTUILIL|SH6IT
3) Hemapy Fewde) — g SO ChTU
4) Feveunsid - elpl (Heberien aidbeald

151. OQsrhssiu’L aBHHIGHHTL 960
o ulflenmiselT q(h OF60 o _uliflemisber.
Gamailwmeorden, ULdbe06T, enLDSBGHTLIGMTErOLDT,
BTEYOL &, b, LenyLiGerm@amiom,

QL& FH OGS 6T
1) Five

2) Four

3) Seven

4) Three

615 &HEN 60T

152. WeiteumeuameuBpiiev etemeu GamL GLT@yrengderis
BFiyIDID SI6LEV!
1) ojevemeurest
2) Sl emeutedt
3) ewal GLrdei
4) wBrdlev

153. Uesteumeueeumnsled 618 LN6MTEIOLOT LJTHLD SI606V:
1) .".amuifl Geummlegest
2) o606
3) &Germyedesr
4) anSGuom@,Genmi 6ot

154. desreumeuemeumnlevieinen 61gl &ehdGuITerdGILIT
1060 BaBLom_GLTemLIL 196D FBHLIL a1606M6V:
1) Heyeg
2) B 10U(Hbs OFed
3) ouemigBLITL 60
4) @evspy

155. smalsd BHS@GD @b Sifleols CUITHEMTS
19.6T631.6] (LPH&A(LWH6060 . L0 flé Gouiagymed
B60 SIHLWITENLD HTEILILILL SI. DleU] DIeWdH
6Tl QuwflL L.

1) 1962, Bluyderies
2) 1869, Bluydeies
3) 1859, Mluyéerilesr
4) 1869, MuysefBuin@Fmibaserr

156. LTeSTeu(HLD o_uilflemiserile0
CamL BT Hmer o (HeuTdhESBS!:
1) GamPlameir
2) et Qo B e
3) eyt el Hest
4) SImBIHHID

a8l

1
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157. __ Infected cells secrete ___called interferons
which protect non Infected cells from further
viral Infection:

1) Bacteria, Protein

2) Virus, lipid

3) Virus, Carbohydrate
4) Virus, Protein

158. Which one of the following are odd:
1) Pst |
2) Pvu Il
3)Clal
4) DNAs

159. Which one of the following process in PCR
takes place at highest temperature:
1) Denaturation
2) Annealing
3) Extension
4) All process takes place at same temperature

160. The given Diagram is represent Earth planet. At
which point Biodiversity are minimum.
North Pole

<D
«—C
«~—B

<A

Eq;!:ator

e S
South Pole

1)C
2)E
3)D
4) A

161. In ___ the sacred groves are the last refuges
for a large number of a rare and threatened plants
1) Sarguja
2) Rajasthan
3) Karnataka
4) Meghalaya

162. In Red data book the pink pages include
1) The large size animal
2) The critically endangered species
3) Only threatened species
4) Only vulnerable species
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157.  unddsiul L 0FeseT I, .CLyTerselt
gL _ m  SyHSlamer,  Sene
UTHSBIULTEH — QFeodemen  GgOd  emeugerd
CaTBNIeV (B! LITHIHT D 65T360T:

1) urdieflwim, Uysib

2) emauyerd, eI

3) emaugerd, sMyGUTenamL Gyl
4) emeugerd, LgHIb

158. teraumeuemeumnied 61g QUTHHSHTHSHI:
1) Pst |
2) Pvu ll
3)Clal
4) DNAs

159. PCR @ev Laiteumid Gauisdpenpaseriled 1gl Oigls
GauliLpleneouled HevL CLIBISBSI:
1) Bwedy glifiged
2) Qe iu@sHs  Geiialdgsen
3) alfleuréasid
4) omaibg FweWwmBHEHD @8y Geuli
Blemeoulle0 HemL GILIMIEsI6ITmBesT

160. OQasrhésiu’L  euenyuLld Wil HjssHhmdHd
GBGIBEI. 6hFH Hlenevuled LILILTT &HenBeuTs

9 _GiTeNgy.
North Pole
<D
«—C
~—B
7 A
Equator

South Pole F
1)C
2)E
3) D
4) A

161.  ®e6b o eiten yellg Camiiysen Sifiul ommibd
SIPHSI QU(HLD SHTEUTMIH 61T 601 Ou(HLD
6T6U0T600T b M BUNGLUTEIT HeWL_ & L|&60ILBIGBEMIT(EHLD
1) sy@egr
2) JTEgerdHT6aT
3) SIBILST
4) Guosmeowm

162. daniy Hrey UssssHev  Benehdleuri
LIS SMRIB6IT60 SIL_MhIGLIN6
1) Quflwr syemalevmen alevnid
2) sab SIPHSI QIHLD B)6THRIG6I
3) QFFBISHHNGBG 2_6IT6NTerT eBIS6NT oL (BID
4) UTHBBLILILSHInlgul BeTRIB6IT L (BLD
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163. If we consider 4.6 x 10° bp in E.coli then How
many nucleosomes will be present:
1) 23000
2) 2300
3) 230000
4) Zero

164. Select the Incorrect statements for genetic

materials.:

1) DNA chemically is less reactive and
structurally more stable when compared to
RNA

2) The DNA is a better genetic material

3) Both DNA and RNA are able to mutate.

4) RNA mutate at a slower rate than DNA

165. Select the Incorrect match:
1) GGG - Glycine
2) GGC — Glycine
3) GCC — Alanine
4) GUU - Lysine

166. Select the Incorrect match for photosynthesis:
1) RuBP — Primary CO_ acceptor
2) PEP — Primary CO; acceptor
3) OAA — First stable product
4) PGA — Primary CO; acceptor

167. Select the Incorrect match for cockroach:
1) Fat body — Excretion
2) Nephrocytes — Excretion
3) Urecose glands — Excretion
4) Collaterial glands — Help in formation of
ootheca in male cockroach

168. The total volume of air accommodated in the

lungs at the end of a forced inspiration:
1) FRC

2) VC

3) TLC

4)1C

1

www.TrbTnpsc.com

163. E.coli ®sb 4.6 x 108 bp mé &m53sd Qe med
THBHmed Bl &6l GUTGFTIDSH6IT B)(HEHEGLD:
1) 23000
2) 2300
3) 230000
4) Zero

164. LOTLIGTIL] QUIT(HL_ B (6ThE BT 60T

FBuIBmeNsd CHIbHOHHHBMLD. !

1) RNA 2 a1 grui@n6urs DNA Gsugluluied
FHWTH GHemmeuTerr allenershHmet CBTewIL g
LOBBILD &L emLOLIL| FHwITs LY
BemeLSHSHGTENLD O\BTERIL S

2) DNA g fmba wyugmitt Quim(mer.

3) DNA wipi> RNA SrewiGlo o (hormpid
SIMLUJLD HB6ST G\SHTEITL M6,

4) RNA geoigr DNA & ol Gogleumet
A &HHFH60 2 _(HLOTBBLD DieHLSBH

SHEUMBITET

165. saupren QUTHSHHHMSHSH CHIHOHBHHHALD:
1) GGG — Senendflasr
2) GGC — denendlen
3) GCC — sevenaast
4) GUU — eneodlesr

166. qefl&@aisbmadarer Heaupmer CLIT(HHSHHMmBSH
BaIbOBB BB
1) RuBP — @pgeitenio CO2 gL
2) PEP — s eienio CO2 gL
3) OAA — (ip&e0 Bleweouimest Huwimfliiy
4) PGA — wpgeienio CO2 gt

167. syiunet yFfbsmear Heaummer GUTHHHHMmBH

CoIHOBBBBAID:

1) Gamapiiy 2 1 6d — QeuefGuiBBLID

2) Qb." L1Bymen gL Hebeir — GeuelGuiimid

3) AmIBreH@wTUl SIS — QeuefGuIBBLD

4) GanBeul tofluted SIILE6T — SYENT SIUILIT6H
LFFAuTed 2an s o (HeuTeuHB&)
2 56)|Fleimen

168. sl Lmw o aeurgsHer (yaied Hienyuiredsd
o e6itenl STBBleT GLOTSHSH D66y
1) FRC
2) VC
3) TLC
4)IC
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169. Statement I: obviously, by counting the number
of QRS complexes that occur in a given time
period, one can determine the heart beat rate of
an individual
Statement 1I: Each peak in the ECG is identified
with a letter from P to T that corresponds to a
specific electrical activity of the heart.

1) Both Statement | and Statement Il are

incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

170. Select the incorrect statement for Ethylene
1) Ethylene is a simple gaseous PGR
2) It is synthesised in large amounts by tissues
undergoing senescence and ripening fruits
3) The most widely used compound as source of
ethylene is ethephon
4) Ethylene inhibits flowering in mango

171. Select the correct match:

a) Sea Horse |I) Two chambered heart

b) Saw Fish |I1) Pisces

c) Bangarus |[I11) Three chambered heart
d) Penguin |IVV) Homoiothermous

1) a-1, b-11, c-111, d-1V
2) a-1V, b-11, c-1, d-lI
3) a-1l, b-11, c-1V, d-1
4) a-1, b-11, c-1V, d-11I

172. Statement I: Plant growth and development are
under the control of both intrinsic and extrinsic
factors.

Statement II: Intercellular intrinsic factors are the

chemical substances called plant growth

regulators.

1) Both Statement | and Statement Il are
incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

173. Which of the following are involved in
oxidative decarboxylation:
1) Acetyl CoA
2) NADH
3) Pyruvate dehydrogenase
4) All

1
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169. asmmpm |1 OGeuelliuewLwns, @m @il L
BTeudL LHHe0 MHawd QRS  Gam@Liysefer
STERTENNHENBMUI  GTEITEMIAIHET  CLPeVLD, EHUIG
gioli] @6 Salpuflsl  aldssma  @be]
STl s (LPIQULD.
appl [1: ECG 860 o _sitenn @elGeurm(h o &b P
w0 T euenguieomen 6I(1SHBT60 DIeMLLITETLD
STLLGSBS, B BHWSHT @b SBLLL
0631 GFWeOUTL 6mL & GNHBHMBS!.

1) gammi | oBmid gxmm | ByeniGd seupreaime
2) aamim | sflumerg oyemmed gapmi | Heupmeng
3) aamml | HeumTeng) syeimed gapmi | Ffluimens
4) amm | wBmibd apel 1 @resiho Fflumetene

170. 153 65eIHE)

CoIHOBBHSMD

1) 15868601 e ererlwt eutuy PGR &y@ib

2) B3 (WHMLWDLHS LIPRIGMET LSS
MUBGLD  FHFbHeMTeL DIHH  SleNaled
Q(HEISINENTSSLILBH B

3) aHHeSHNST  clpeOlDTH  OBAD  LITOUGOTEL]
LWSTLBSSLILIBLD Hevener 615. .CUITET SLEHLD

4) 61536560 OTDLIDGH 60 LLILIDSHSH HBSHBBSI

SHOUBITET Sa BB

171. sflwren QUTHSHSHMBHSH CHTHOBHBHDHBLD:

a) aLed GHevg  |1) Byewi® DienBB6iT CBTERIL
Bguib

b) @yibLib 1865t 1) WBeorid

C) LIBISBMT6rD 1) ewpasimr Siemmes6it Qe
Bguwb

d) Ques@uies IV) fens Geuri o _ulflaseit

1) a-1, b-I, c-111, d-1V
2) a-1V, b-11, c-1, d-111
3) a-11, b-111, c-1V, d-1
4) a-1, b-11, c-1V, d-111

172, sw@up |1 smeuy euenjsd BmId QFweoTdaD
o eltenMjbg BEId Oeuellliys  sTyenlserier
SL_(BLILITL 96D 2_6iTerG.
apml 11: GFevsendE e Cuiwmer o _eenmihg
STTIH6T HTeuy euenyFd L BLLTLLT6NTH6N
et ILIBLD Gougluiluied QML 6T LG LD.

1) spm | Bpid spe |1 e Seauprearene
2) gapml | sflwneng uemed anpml | Heupreng)
3) gnpml | eupreng ueimed ammm 1 Ffluimerg)
4) ammul | wBmid apel 1 @yesipo Ffluimeatene

173. YeteumeuemouBsled 61gl Sidbenley@eaiBm SHiyLIew
bHBHHe0 FHLL (BTN
1) 9ifleweo COA
2) NADH
3) emLBGaIL eenamt GrmedGearerd
4) SImBIHHID
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174. Which one of the following compound may be
formed from pyruvic acid:
1) Lactic acid
2) Ethanol
3) Acetyl CoA
4) All

175. Which is not involved in meiosis Il
1) Formation of synaptonemal complex
2) Separation of homologous chromosomes
3) Recombinase enzyme
4) All

176. Statement I: At the time of cytoplasmic
division, organelles like mitochondria and
plastids get distributed between the two daughter
cells.

Statement 1I: In telophase centromere split and
chromatids separate.
1) Both Statement | and Statement Il are

incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both Statement | and Statement Il are correct

177. Select the correct ascending order of carbon

containing compound

1) Pyruvic acid < Fumaric acid < Citric acid

2) Acetyl CoA < Malic acid < o—ketoglutaric
acid

3) Succinic acid < a—ketoglutaric acid < Isocitric
acid

4) All

178. Select the Incorrect match:
1) Right phallomere — Male cockroach
2) Left Phallomere — Male cockroach
3) Phallic gland — Female cockroach
4) Titilator — Male cockroach

179. Select the correct match
1) Serum — Clotting factors absent
2) Amino acid, lipids — Plasma
3) Monocytes, basophils — Colourless
4) All

180. In which animal maximum chamber of heart
present
1) Exocoetus
2) Frog
3) Viper
4) Kangaroo
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174, eoumals obevdhHe0Hhal  Llseumd  6bhd
GFJIDID ©_(HEUTEHEVTLD!
1) eurslgd Sl6VID
2) 615SHEIT6D
3) aiflenL_e0 COA
4) SImISHHID

175. wirdlerd 11 60 FHULTHS
1) AmIGLTEIIDGED HTIDLIGTE6ND 2 (HeUTESLD
2) GamrBurGeumserd  @&GyTGLTGHTIDSMGL
Ufl5&60
3) FamibLIGererd eTeaTEN LD
4) SImBIHHID

176. swmm |1 engl GLmlenmerds fleller Gumg,

ol GLmamewtl fluum  opmId  LNemmerdigL &6t
Gurei o _mIliHeT @Jeni(h LDH6T OFEOHEHESE
@enLufed alBHCITaSalILB 636
gpm 1 1eGeor.".Cueniled  OF &t GmbluliTaes
fibal &Crmogl g6t LflésLinba ase.
1) spu | wBpiId sBu |1 ByesiBo Heuprearene
2) gapml | sflwneng epenmed gnmml | Heupreig)
3) gnmml | eumreng eueimed ammm | Ffluimerg)
4) gaml | oBmId FnBn ByewiGL Ffluimeiane

177.  snjuer  OasrewiL  GFJLod 6t

guieuflengemwd CoHIboSHBHHeD

1) ewumals oifeoid < .. wrflé eufeod < A fd
SiLlevLd

2) ofiemed COA < wredds oo < o-
&1 CLTG@pLMfld oibleod

3) sadalls o < o- &I GLTGEHLTHS
Slfleuld < MBI Mdb odleLD

4) 9ImNSHHID

Frfluirmeot

178. seupner QUTHSHHHMBSH CHIHOHBHBMLD:
1) auevg! .".LN60GOMLAWLIT - SLEUT SILILITET L&)
2) BL g . .11608e0mOWIT - SY6WT SBILILITET L&Fd)
3) ..umeds &gl - GLewT SyrILITeT L&
4) L 19Beul LT - SL6uT SILILTET L&)

179. sflwren QUT(HSHHHMBHH CHIHOBHBHHHALD
1) F1b - 2_mBHe0 HTTewiB6T 60660
2) o1HBem &yLfl6vid, eSCILNBEH6IT - LNemTeroLom
3) GurGamena BH6lT, BLBFTLIGLS6IT - BIBLOBBS
4) SImBHHID

180. e elevmidled BFHLSHHeT DHBULF Dlenm
2 6leNg)
1) 618BeromGaim” L_61d
2) Heuener
3) alifluiest LimibLy
4) smIEI
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